
 

   

 DELHI PUBLIC SCHOOL  

                SAIL TOWNSHIP, RANCHI 
                         HALF YEARLY EXAMINATION (2021-2022)                             

Class:- VI                                                                                        Subject:- English  
          Time:- 3 Hrs.                                                                                                  F. M:- 80 

General Instructions:- 

1. The question paper is divided into two parts: 

Part- A 

Part- B 

2. All questions have to be attempted. 

3. You may attempt any part at a time. 

4. All the questions of that particular part must be attempted in the correct order. 

 

PART - A   (40 marks) 

Q.1     Read the following passage carefully and choose the correct answer from the  

           given options:          (1x10=10) 

It was Monday morning. Swaminathan was reluctant to open his eyes. He considered 

Monday specially unpleasant in the calendar. After the delicious freedom of Saturday and 

Sunday, it was difficult to get into the Monday mood of work and discipline. He shuddered 

at the very thought of school; that dismal yellow building; the fire-eyed Vedanayagam , his 

class- teacher , and the Head Master with his thin long cane. 

By eight he was at his desk in his ‘room’, which was only a corner in his father’s dressing 

room. He had a table on which all his things , his coat, cap, slate, ink-bottle, and books, 

were thrown in a confused heap. He sat on his stool and shut his eyes to recollect what 

work he had for the day: first of course there was Arithmetic– those five puzzles in Profit 

and Loss; then there was English- he had to copy down a page from his English Lesson, 

and write dictionary meanings of difficult words; and then there was Geography. 

And only two hours before him to do all this heap of work and get ready for the school! 

Fire-eyed Vedanayagam was presiding over the class with his back to the long window. 

Through its bars one saw a bit of the drill ground and a corner of the veranda of the Infant 

Standards. There were huge windows on the left showing vast open grounds bound at the 

other  extreme by the railway embankment. 

1. Monday was the most unpleasant day for Swaminathan because 

(a) There was no game period on this day 

(b) There was no computer class on this day 

(c) It marked the beginning of work and discipline 

(d) There was no class of his favourite teacher on this day 
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2. The colour of the school building was 

(a) Red 

(b) Blue 

(c) Yellow  

(d) White 

3. Vedanayagam was Swaminathan’s 

(a) Class teacher 

(b) Art teacher 

(c) Head master 

(d) P.T. teacher 

4. By which time Swaminathan was at his desk in his ‘room’? 

(a) By seven 

(b) By eight 

(c) By six 

(d) By five   

5. Swaminathan kept all the things  

(a) In a cupboard 

(b) On a bench 

(c) In a suitcase 

(d) On a table 

6. From the way of keeping his things , it was clear that Swaminathan was  

(a) Disciplined 

(b) Casual 

(c) Tidy  

(d) Serious 

7. The above passage makes it clear that Swaminathan 

(a) was very interested to go to school 

(b) was very regular in doing homework 

(c) didn’t want to go to school 

(d) loved his class teacher 

8. Swaminathan couldn’t see through his classroom window because  

(a) It was closed 

(b) His class teacher was standing with his back to it 

(c) A thick curtain was hanging over it 

(d) A fat boy was sitting near it 

9. The word ‘dismal’ means 

(a) Happy 

(b) Active 

(c) Sad 

(d) Slow 
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10. Find out the antonym of the word ‘stayed calm’ from the passage 

(a) Considered 

(b) Recollected 

(c) Presided 

(d) Shuddered 

  Q.2  Read the passage carefully and answer the following questions.         (1x10=10)                                                                                                                          

Mix-up at Birth 

I may never have become a cricketer and this book would certainly not have been written, if an 

eagle-eyed relation, Mr Narayan Masurekar, had not come into my life the day I was born (10 

July 1949). It seems that Nan-kaka (as I call him), who had come to see me in the hospital on my 

first day in this world, noticed a little hole near the top of my left ear-lobe. The next day he 

came again and picked up the baby lying in the crib next to my mother. To his utter horror, he 

discovered that the baby did not have the hole on the left ear-lobe. A frantic search of all the 

cribs in the hospital followed, and I was eventually located sleeping blissfully beside a 

fisherwoman, totally oblivious of the commotion I had caused! The mix-up, it appears, 

followed after the babies had been given their bath.  

Providence had helped me to retain my true identity, and, in the process, charted the course of 

my life. I have often wondered what would have happened if nature had not ‘marked’ me out, 

and given me my ‘guard’ by giving me that small hole on my left ear-lobe; and if Nan-kaka had 

not noticed this abnormality. Perhaps, I would have grown up to be an obscure fisherman, 

toiling somewhere along the west coast. And, what about the baby, who for a spell, took my 

place? I do not know if he is interested in cricket, or whether he will ever read this book. I can 

only hope that, if he does, he will start taking a little more interest in Sunil Gavaskar. 

 

from Sunny Days by Sunil Gavaskar 

 Tick the most appropriate answers.    

 

(1) Sunil Gavaskar has mentioned a true incident in his life. The text is about 

 

 (a)  how Sunil Gavaskar began playing cricket. 

 (b)  Sunil Gavaskar’s relative, Mr Narayan Masurekar. 

 (c)  Sunil Gavaskar’s birth. 

 (d)  the exchange of babies in the hospital. 

 

(2) When Mr Narayan Masurekar came the next day, he was surprised to see  

 (a)  A number of newly-born babies in the hospital. 

 (b)  A baby who was not lying in the crib. 

 (c)   A baby who did not have a hole on the left ear-lobe. 

 (d)  A baby crying in the crib. 
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(3) All the cribs were searched to 

 (a)  find the one-month old baby. 

 (b)  look for the baby with a small hole on the left-lobe. 

 (c)  find a fisherwoman. 

 (d)  locate Mr Narayan Masurekar. 

 

(4) What does Sunil Gavaskar mean by the words ‘If nature had not ‘marked’ me out’ ? 

 (a)  if nature had not made him a cricketer. 

 (b)  if nature had not given him a hole on the left ear-lobe. 

 (c)  if nature had not distinguished him from other cricketers. 

 (d)  if nature had not made him a heavier baby as compared to the other babies. 

 

(5)  When did the ‘mix-up’ happen ? 

 (a)  At birth 

 (b)  When Nan-kaka picked the baby lying in the crib. 

 (c)   After the babies were bathed. 

 (d)  None of these. 

 

(6) Who does Sunil Gavaskar call Nan-Kaka ? 

 (a)  His father 

 (b)  Mr Narayan Masurekar 

 (c)  Some hospital staff 

 (d)  Some fisherman 

 

(7)  What does the baby referred to in the passage grows up to become ? 

 (a)  A fisherman 

 (b)  A guard 

 (c)  A cricketer 

 (d)  An eagle-eyed relation 

 

(8)  Find a word in the passage which means ‘noisy excitement’. 

 (a)  utter 

 (b)  frantic 

 (c)  commotion 

 (d)  providence  

 

(9) When was the writer born ? 

 (a)  10 July 1947 

  (b)  19 June 1949 

 (c)   10 June 1949 

 (d)  10 July 1949 
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(10) “Whether he will ever read this book”. Who is he ? 

 (a)  Sunil Gavaskar 

 (b)  Mr Narayan Masurekar 

 (c)  The baby of the fisherman 

 (d)  The fisherman 

     Q.3   Read the following extract and select the correct answers from the given options .  (1×5=5) 

 “ Oh, you leave that to me.” 

(i) The speaker of the line is  
(a) Uncle Podger 
(b) Aunt Podger 
(c) The Swallow 
(d) Dr Rao 

(ii)  What is the name of the author? 

(a) Anil Ekbote 
(b) Oscar Wilde 
(c) Jerome Klapka Jerome 
(d) William Canton 

 
(iii) To whom is the line being spoken? 

(a) Mrs Fischer 
(b) Aunt Podger 
(c) The Prince 
(d) Cyril 

 
(iv) Why did the speaker say it? 

(a) The speaker was overconfident 
(b) The speaker was proud 
(c) The speaker wanted to show his/her skill 
(d) All of these 

 
(v) The speaker is talking about 

(a) Keeping the bird’s eggs in a container 
(b) Helping the poor in the city 
(c) Cleaning the untidy room 
(d) Putting up a picture on the wall 

Q.4   Read the following extract and answer the following questions by choosing the  
correct options.                                                                                                              (1x5=5) 

“ A crack appeared in the blue vase 
 Your great-great grandad 
 Brought back from Mr Ming in China.” 

(i) What is the name of the poem? 
(a) Songs of Innocence 
(b) The Miller of the Dee 
(c) Dear Mum 
(d) Travel 
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(ii) Who is the poet of this poem? 

(a) Charles Mackay 

(b) Brian Patten 

(c) William Blake 

(d) R L Stevenson 

(iii) Who is the speaker here? 

(a) A naughty boy 

(b) Jim 

(c) King Hal 

(d) Will 

(iv) The lines are being addressed to 

(a) Maria 

(b) Tom 

(c) The miller 

(d) The mother 

(v) The figure of speech used here is 

(a) Simile    

(b) Metaphor 

(c) Personification 

(d) Alliteration 

     Q.5          Choose the correct option:                            (1x10=10) 

(i)   Identify the kind of the given sentence: 

                                             Have mercy upon us. 

(a) Assertive 

(b) Exclamatory 

(c) Interrogative 

(d) Imperative 

                         (ii)   It is our sacred book. 

The kind of the Noun is- 

(a) Proper Noun 

(b) Common Noun 

(c) Collective Noun 

(d) Abstract Noun 

                            (iii)     This pen is mine. 

                                           Here the kind of the Pronoun is 

(a) Demonstrative Pronoun 

(b) Distributive Pronoun 

(c) Possessive Pronoun 

(d) Reflexive Pronoun 
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                         (iv)    What will be the suitable Adjective to fill in the blank? 

                                            We watched a __________ show. 

(a) Spectacular 

(b) Agreeable 

(c) Customary 

(d) Relaxed 

(v)     He showed much patience. 

        State the kind of the Adjective used here. 

 

(a) Adjective of Quality 

(b) Adjective of Quantity 

(c) Adjective of Number 

(d) Demonstrative Adjective 

(vi)       Fill in the blank with the correct Auxiliary Verb. 

I ____ respect my father’s decision. 

(a) am 

(b) was 

(c) do 

(d) does 

        ( vii)  Mother gave Amisha a gift. 

           Mention the Direct Object in the above sentence. 

(a) Mother 

(b) Gave 

(c) Amisha 

(d) A gift 

       (viii)         Fill in the blank with a proper verb in agreement with the subject. 

            Much of the rice _____ saved for them. 

(a) are 

(b) were 

(c) was 

(d) has 

          (ix)      Rishi had met Arun several years ago. 

        Which tense is used in the above sentence? 

(a) Present Continuous Tense 

(b) Simple Past Tense 

(c) Present Perfect Tense 

(d) Past Perfect Tense 

Pg – 7 of 9 

 

 



 

      (x)         Choose the proper Passive Voice for the given Active Voice. 

 She played the role of the heroine.  

(a) The role of the heroine is played by her. 

(b) The role of the heroine has been played by her.  

(c) The role of the heroine was played by her.  

(d) The role of the heroine was being played by her.  

PART-B (40 marks) 

    Q.6   Do as directed:          (1x10=10) 

(i)       How enthusiastically she is performing!        ( Change into an Assertive Sentence) 

     (ii)    The students of our school are good in studies. ( Find out the Subject and the  

Predicate ) 

     (iii)     They moved forward with courage.   ( Find out the kind of Noun used here) 

     (iv)     Write the plural form of the noun ‘ trophy’. 

(v)       State the opposite gender of the noun ‘boar’. 

     (vi)       This is the man who stole my purse. ( Find out the kind of the underlined  

Pronoun) 

( vii)     Write the superlative degree of the Adjective ‘splendid’. 

(viii)      Either of the two candidates __________ suitable. ( Fill in the blank with a  

  Verb in agreement with theSubject. Use the Present Tense) 

(ix)         When I went to her house, she _______________ (sing).  ( Fill in the blank 

with the correct form of the given verb). 

(x)      Put the following sentence into the Passive form. 

He is flying a kite.  

Q.7   Write a paragraph in about 100 words on the topic ‘A True Friend’ on the basis of the  

          given outlines. Use your imagination to express your concept about a true friend and  

           add some more points.                                              (5) 

                                           A True Friend: 

 Like a good book 

 Tells good and valuable things 

 Encourages 

 Truthful and honest in criticising 

 Helpful, always there for you 

   OR 

Write a paragraph on the topic ‘Unity is Strength’ in about 100 words.            (5) 
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Q.8       You are Kushal/ Komal of class VI B, Delhi Public School, Ranchi .Write a letter to  

the Principal of your school requesting him to grant you a leave for a week as you have 

been suffering from a leg fracture and it needs time to heal. (Word limit-120 words)  (5) 

OR 

On behalf of all the students commuting by Bus No.17 of BhartiyaVidyaSadan, New Delhi, 

draft an application to be submitted to the school Principal complaining about the delayed 

arrival of the bus to school due to its delayed starting of the journey. You are Vinit/Vinita 

of class VI C.                (5) 

 

Q.9         Read the extract given below and answer the following questions.          (1×4=4) 

    “Dr Rao ate very little. His mind seemed to be elsewhere.” 

(a) Where was Dr Rao? 

(b) What had he done just before this? 

(c) What was he thinking about? 

(d) Was he successful in his mission at the end? 

Q.10        Answer any five  of the following questions briefly in about 30-40 words.     (2×5=10) 

    (i) What confusion did Uncle Podger create at the beginning? 

   (ii)  What happened to the two pets in the poem ‘Dear Mum’? 

    (iii) Why was the statue of the Happy Prince sad? 

(iv) Why did the Swallow feel warm even though the weather was cold? 

      (v) What was the real reason behind Cyril’s unwillingness to go to school? 

(vi) Why was the miller compared to a lark? 

(vii) Why did Dr Rao take Cyril out in the evening? 

Q.11      Can money and comforts of life make a person happy? Explain with examples from  

              the poem ‘The Miller of the Dee’.  (50 -60 words)                                                                     (3) 

Q.12       From being a wilful and naughty boy, Cyril became a well-known person. How did  

   the change take place? Do you think that this type of change is possible in any child's  

     life?   Explain.( 50-60 words)              (3)                                                                      

    

 

                                                                             ******************** 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

               HALF YEARLY EXAMINATION (2021-2022) 

 Class –VI                             Subject- Mathematics 
Time- 3 Hrs.                                F.M.- 80   

           

General Instructions:-  

1. The question paper contains two parts: part a & b 
2. Both parts have internal choices. 

 
Part - A 

1. It consists of two sections I & II 
2. Section 1 has 16 questions of 1mark each. Internal choice is there in 5 questions. 
3. Section 2 has 4 questions on case study . Each case study has case based 5 sub parts.  
Examinee has to attempt any 4 sub parts out of 5. 

 
Part - B 

1. Question no. 21 to 26 are very short answer type questions of 2 marks each. 
2. Question no. 27 to 33 are short answer type questions of  3 marks each. 
3. Question no. 34 to 36 are long answer type question of 5 marks each. 
4. Internal choice is provided in 2 questions of 2 marks, 2 questions of 3 marks ,  
     1 question of five marks. 
 

PART - A 

        SECTION – I 

Directions ( Q. Nos. 1-16) Section-1 has 16 questions of 1 mark each. Internal choice is 

provided in 5 questions. 

1. How many 2 digit- numbers are there in all. 

2. Express 769  as a Roman numeral. 

3. Find the sum of 654, 392 and 108 by suitable rearrangement. 

4.  Find out all the prime factors of 30. 

5.  Find the H.C.F. of 24,36 and 40. 

6.  Draw any polygon and shade its interior. 

7.     If a bicycle wheel has 48 spokes, then find the angle between a pair of two  

    consecutive  spokes. 

8. Find the sum of (-2) and (-7) using a number line. 
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9. What is the difference between the smallest number of six digits and the largest number of 

five digits. 

                                    OR 

Replace each* by the correct digit of the following: 

  6 2 7 6 

 — * * 6 9 

   ¯¯¯¯¯¯¯¯¯¯¯¯¯¯¯¯¯¯¯¯¯¯¯ 

   1 2 * * 

10. What is the difference between the place value and face value of 7 in 254789? 

                                                      OR 

  Write the corresponding Hindu-Arabic numeral of the following:    KDLXV . 

11. Express  the following number as the sum of three different odd primes:61 

                                                             OR 

 Replace Δ by the smallest number to make it divisible by 11: 9Δ8071. 

12. What should be added to 18 to get -34? 

                                                   OR 

Find the sum of 137 and – 354. 

        13 . Where will the hand of a clock stop if starts at 5 and makes 3/4 of a revolution, clockwise? 

                                                                                     OR 

Which direction will you face if you start facing east and make 1/2 of a revolution clockwise? 

14. Write the largest and smallest 5-digit numbers using each of the digits 1, 4, 6, 8, 0 only once . 

15. Insert commas suitably and write the names according to Indian System of  Numeration : 

87525763. 

16. Write all the numbers less than 60 which are common multiples of 3 and 4. 

SECTION – II 

Directions : (q.nos. 17-20)  Section-2 has 4 questions on case study . Each case study has case 
based 5 sub parts.  Examinee has to attempt any 4 sub parts out of 5. Each sub-part carries 1 
mark. 

17. If a, b, and c are three whole numbers then state the properties satisfied by the following: 

(i) a+b is a whole number 

a) Closure property of addition 

b) Commutative property of addition 

c) Associative property of addition 

d) Distributive property of multiplication over addition 
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(ii) a+b=b+a 

a) Closure property of addition 

b) Commutative property of addition 

c) Commutative property of multiplication 

d) Associative property of multiplication 

(iii) ax(bxc)=(axb)xc 

a) Commutative property of subtraction 

b) Associative property of addition 

c) Associative property of multiplication 

d) Distributive property of multiplication. 

(iv) ax(b+c)=(axb)+(axc) 

a) Reciprocal property 

b) Distributive property of multiplication 

c) Closure property of multiplication 

d) Role of zero 

(v) (a+b)+c=a+(b+c) 

a) Closure property of addition 

b) Associative property of addition 

c) Additive identity 

d) Additive inverse. 

18.   THREE DIMENSIONAL SHAPES (SOLIDS) around us…… matchbox, chalk box, bricks, gas 

cylinders, softy ice-creams, cones etc 

(i) A three dimensional shape bounded by 6 rectangular faces is called 

(a) Cuboid       

(b) Cube         

(c) Cone     

(d) Cylinder 

(ii) A solid whose base and top are identical polygons and other faces are rectangular is  

 (a) Cuboid       

(b) Pyramid 

(c) Cone     

(d) Cylinder 
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(iii) A die is an example of  

(a) Cuboid       

(b) Cube         

(c) Cone     

(d) Cylinder 

(iv) A _______ has 1 flat face (the base) which is a circle,1 curved surface,1 vertex and 1 edge . 

(a) Cuboid       

(b) Cube         

(c) Cone    

(d) Cylinder 

(v) A road –roller is an example of  

(a) Cuboid       

(b) Cube         

(c) Cone     

(d) Cylinder 

19.  The table given below, shows the elevations relative to sea level of four locations. Taking sea 

level as zero, answer the following questions: 

Location  Elevation (in m) 

A -180 

B 1500 

C -45 

D 3000 

 

(i) Which location is closest to sea level? 

a) A 

b) B 

c) C 

d) D 

(ii) Which location is farthest from sea level? 

a) B 

b) C 

c) A 

d) D 
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(iii) Arrange the locations from the least to the greatest  

a) C,A,B,D 

b) A, C,B, D 

c) B,A,C,D. 

d) C,D,B,A. 

(iv) How many locations are above sea level? 

a) 3 

b) 4 

c) 2 

d) 1 

(v) How many locations are below sea level? 

a) 4 

b) 3 

c) 1 

d) 2 

       20. NUMBER CARDS GAME PLAYING TOGETHER….. 

A box has some cards, numbered 149 to 160 . Cards are mixed thoroughly………….                  

Give the answer of the following questions: 

(i) How many card numbers are divisible by 2? 

a) 2 

b) 3 

c) 4 

d) 6 

(ii) How many cards bear a prime number ? 

a) 2 

b) 3 

c) 4 

d) 5 

(iii) How many card numbers are divisible by 6? 

 a)2 

b)1 

c)0 

d)5 
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(iv) How many cards bear a composite number? 

a) 2 

b) 3 

c) 7 

d) 9  

         (v)   How many card numbers are divisible by 12? 

 a) 0 

b) 3 

c) 1 

d) 4 

PART - B 

Directions : (Q.Nos. 21-26) These are Very Short Answer Type questions of 2 marks each. 

 21. Estimate the product of 234 and 75. 

22. Do the calculations by suitable rearrangement – 

 1 + 2 + 3 + 4 + 996 + 997 + 998 + 999 

                                                     OR 

 Find the value of the following using properties: 

                      1568 x 186 – 1568 x 86 

23. Write the number of triangles present in the given figure and name them. 

 

24.  Find the value of : (– 7) – 8 – (– 25)     

25.  In an examination the grades achieved by 20 students of a class are given below. Arrange 

these grades in a table using tally marks. 

A,B,B,C,D,D,C,B,B,A,A,E,E,A,B,C,A,D,C,B. 

26. Simplify: [-13-(-17)]+ [-22-(-17)] 

                                             OR 

If * is an operation on integers such that for integers a and b,a * b = a – (-b) .  

 Find the value of ( -3) * ( - 5) 
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Directions : (Q. Nos. 27-33) These are  Short Answer Type questions of 3 marks each. 

27. The following are the details of 30 number of students present in a class  during a  

      week. Represent it by a pictograph. 

 

Days No of students present  

Monday 25 

Tuesday 25 

Wednesday 28 

Thursday 30 

Friday 30 

Saturday 25 

 

28.  Subtract the sum of – 1250 and 1138 from the sum of 1136 and – 1272.   

29.  Find the smallest 5-digit number which is exactly divisible by 20,25,30. 

30.  In one state, the number of bicycles sold in the year 2002-2003 was 6,43,000. In the  

      year 2003-2004, the number of bicycles sold was 8,00,100. In which year were more  

      bicycles sold? and how many more? 

31. There are six sections of class VI in a school and there are 45 students in each section.  

      If the monthly charges from each student be Rs.1650, find the total monthly    

      collection from class VI . 

                                                                               OR 

Divide 53068 by 256 and check the result by the division algorithm. 

32. Find the least number which when divided by 6, 15 and 18 leave remainder 5 in each case. 

                                                                              OR 

An electronic device makes a beep after every 15 minutes. Another device makes a beep 

after every 20 minutes. They beeped together at 6am. At the earliest when will they next 

beep together? 

33.  Take three non-collinear points A,B and C on a page of your answer sheet. Join AB, BC and 

CA. What figure do you get? Write the name of the figure. Also, write the name (a) the 

side opposite to ∠B (b) the vertex opposite to side BC.  
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Directions : (Q.Nos. 34-36) These are  Long  Answer Type questions of 5 marks each. 

34.  Following table shows the monthly expenditure of Imran’s family on various items.  

          To represent this data in the form of a bar diagram. 

Items Expenditures(in Rs) 

House Rent  2800 

Food 3000 

Education  800 

Electricity  400 

Transport  600 

Miscellaneous  1200 

 

35.   (a) Draw a triangular prism and label it. Write the names of all vertices. 

(b)Draw a rough sketch of a regular octagon and label it. Draw a rectangle by joining exactly 

four of the vertices of the octagon and shade it.                        [2.5+2.5] 

OR 

  35. Study the diagram. The line m is perpendicular to line n 

 

  (i) Is ST = TU? Why? 

(ii) Does AT bisect RV? Explain.                                                          [2+2+1] 

(iii) Identify any two line segments for which AT is the perpendicular bisector. 

     36.  Draw a rough figure and label suitably in each of the following cases: 

 (a) Point P and Q lie on the line LM.                                                       [3+2] 

(b) The lines m and n  intersect at M.  

(c) Line l contains  the point A but not D and O. 

(d) Mark a point P on a sheet of paper and draw a line passing through it. How many lines can 

you draw through this point? 

**************** 

Pg – 8 of 8 

 



 

 

    DELHI PUBLIC SCHOOL 
                SAIL TOWNSHIP, RANCHI 

                                   HALF YEARLY EXAMINATION (2021-2022) 

  Class:- VI                                           Subject:- Science   

            Time – 3 Hrs.                                F.M. :- 80 

All questions are compulsory. 

Marks are indicated against each question. 

PHYSICS        

 

Q.I  Choose the correct option:            (1x2=2)  

1. Choose the odd one                                                          
     (A)Handspan 
     (B)Cubit 
     (C)Metre 
     (D)Pace 
 

2. Which of these can never form a circular shadow?         
     (A) A ball 
     (B) A flat disc 
     (C) An ice cream cone 
     (D)A shoe box 
 
QII.  Answer the question in very short.           (1x2=2) 

 
3. State whether the hour hand  of a wall clock is at rest or motion.       
4. Mention the name of an object which partially allows the light to pass through it.    

 
QIII.  Answer in brief:                                             (2x3=6) 

 
5. Will the measurement of a room using the foot of different persons be equal or not? 

           Justify.                
6. Briefly explain the type of motion performed by the earth.      
7. Three identical towels of red,blue and green colour are hanging on a clothline in the sun. 
    What would be the colour of shadows of these towels? Give reasons.       

 
Q IV.  Long Answer:                                (3x4=12) 

 
8. (A) What is Rectilinear motion? Explain with example.       (11/2) 

       (B) What is periodic motion? Give one example.                   (11/2) 
 

9. (A) Thickness of 10 identical  coins when placed one above another  is 2.9cm Calculate the  
               thickness of each coin. Express  in millimetre also.        (2) 
         (B) The height of a tree is 4.25m.Express it into cm and mm.      (1) 
            10. (A) In a complete dark room,  we are not able tosee our face.Why?  (11/2) 
                   (B)  As we know that the moon appears to be bright at night. Does it mean that it is a  
                        luminous object? Explain.                               (11/2) 
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11. (A) Why don’t we see laterally inverted image in a periscope?     (1) 
            (B) Draw a well labelled diagram of a periscope.                            (2) 
 
QV. Very Long Answer:                          (5)        

12. What is the difference between rest and motion?                       (2) 
                   Write the difference between circular and rotatory motion.      (2) 
                   Draw a diagram showing a body in Periodic and Circular motion simultaneously.  (1) 
 
                                                                    OR 

        Write an activity to show that light travels in straight line under the following headings: 
        Aim, Requirements, Well labelled diagram, Procedure, Observation and Conclusion.   (3) 
        What is Solar eclipse?        (1) 
        What kind of image is obtained in a Pin hole camera?      (1) 
 
 

CHEMISTRY 
I.  Choose the correct option:             (1x3=3)  

      Q1.  One of the following liquids is immiscible with water. This one is :                   

A. Glycerine 

B. Vinegar 

C. Lemonade 

D.  Kerosene 

Q2.Which one of the following is desirable change ?                        

     A . Rusting of iron object. 

     B .Spoilage of food 

     C. Ripening of fruits 

     D.  Souring of milk 

           Q3. One of the following is not an irreversible change. This one is :                    

   A. Ironing clothes 

   B. Burning of incense stick 

   C. Baking of Cake. 

   D. Rusting of iron gate. 

II.  Answer the question in very short.           (1x2=2) 

Q5. Name two materials which can be used to make utensil.               

Q6. Name the property in which steel & sponge differ from each other.         

III.    Short answer questions :                      (2x4= 8) 

Q6. If coconut oil is mixed with water does it mix completely or dissolve in it? Name  

       the above combination.  Give one more similar type of example.    (½ +½+1) 

Q7. A) What are lustrous materials? 

                 B) How do metals  get tarnished?                            (1 + 1) 
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Q8. Which of the following changes given below are desirable/undesirable  

             and reversible/irreversible ? 

A. Rotting of fruits      B.  Cooking of food     

C. Melting of ice cream.       D. Cutting of vegetables.       ( 1/2 x 4 = 2) 

 

Q9. A glass tumbler sometimes cracks when hot water is poured into it. Explain.  (2) 

IV.   Long answer questions :               (3x3 = 9) 

Q10.  A. Write the difference between filtrate and residue.                 (2 + 1/2 + 1/2) 

B. You are given a salt solution. What method will you use 

I)  To remove only salt 

II) To remove both salt as well as water. 

Q11.  What is loading? Name the chemical used in loading.                (2+ 1 =3) 

Q12.  I) When electricity is passed through water, then two gases, H2 & O2 are produced.   

    When water is boiled only one gas ie. water vapour is produced. What type of  

          change takes place : 

A) In the first case.                            (1+1+1) 

B) In the second case. 

II ) Name two processes which help to put iron ring over the cart wheel. 

IV.  Very Long answer question         (5x1 =5) 

      Q13.   a)  Draw a diagram of the process of sedimentation & decantation  & label  

I) Sediment 

II) Supernatant liquid. 

b) A list of mixtures  is given below. 

From the list select those mixtures which can be separated by sedimentation & 

decantation. (3+2) 

I) Salt + water 

II) Sand + water 

III) Oil + water 

IV) Sugar+ water 

OR 

a)  Draw a diagram of the process of filtration & label the following:   (  3+2) 

I) Residue 

II) Filtrate 

b) How will you remove bran from flour. 

c) Name the apparatus used to separate oil from a mixture of oil & water. 
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BIOLOGY 
 

I. Choose and write the correct option :        [1x2 = 2] 

1. Which of the following statements is correct  

  a) Rayon is a blended fibre    

b) coir is a plant fibre 

c) cotton fibres are made of proteins  

d) jute fibre is obtained from the flowers of the jute plant 

2. Which part of flower turns into a fruit  

a) ovary    

b) Stigma   

c) anther  

d) ovule 

II. Answer the following questions in short :       [1x2=2] 

1. Write 2 ways by which we can avoid wastage of food. 

2. Why should we have a combination of different nutrients in our diet? 

III. Answer the following questions as directed :      [2x4= 8]  

1. What are deficiency diseases ? How can they be cured? 

2. Why should we avoid eating excess of fats and carbohydrates? Name two diseases  

     which  can be caused due to excess fat in body. 

3. Why do we need to change fibre into yarns before making fabric? Write one point  

    of difference between knitting and weaving. 

4. Write two points of difference between a tap root and a fibrous root.  

IV. Answer as instructed-           [3x3= 9 ] 

1. Give reasons for the following statements-  

a) roughage should be included in a person’s diet 

b) Lack of iron in diet leads to weakness 

c) People of different ages need different kinds of food 

2. Draw a labelled diagram of a stamen. Which part of the stamen produces pollen grains.   

Which part of the pistil receives the pollen grain? 

3. Define the following terms  

a) ginning.     b) spinning.   c) loom 
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IV. Choose and write any ONE of the two questions -       [5 ] 

 

1.  a. Draw a labelled diagram of a leaf with parallel venation and a leaf with  

reticulate venation 

  b. Define nodes and internodes.  

  c. Write two functions of leaves 

                     OR 

2. a. Draw a well labelled diagram of a flower. 

    b. Why are the petals of flowers brightly coloured? 

    c. What is the function of sepals in a flower? 

 

 

 

 

******************* 
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      DELHI PUBLIC SCHOOL
                  

                                HALF YEARLY EXAMINATION (2021

                Class:- VI                                      

                 Time:- 3 Hrs.   

 

 All Questions are compulsory.

 Marks are indicated against each question. 

I. Choose the correct option:.   

1. Which language was earlier used by 

a) Gujarati 

b) Rajasthani 

c) Prakrit 

d) Bengali 

2. The site of Burzahom is situated in

a) Kashmir 

b) Bihar 

c) Rajasthan 

d) Madhya Pradesh 

3. In earlier cities, the part to the west was smaller but higher and was called:

a) Citadel 

b) Lower town 

c) Royal town 

d) None of these 

 

II. Answer the following questions: 

1. What are manuscripts? 

2. Name the cave where traces of ash were found.

3. What was the language used to compose the 

 

III. Answer these questions:-.   

1. What do you mean by inscriptions? What was the advantage of writing on a hard surface

2. Why did hunter gatherers move from place to place ? Give three reasons.

3. In what ways are the books we read today different from the Rigveda ?

4. Define Megalith. How do burials help in understanding social differences ?  (1+2=3)

 

IV. Answer the following questions in detail:. 

1. How do archaeologists know that cloth was

have been given by the historians for the decline of Indus Valley Civilization ?  (3+2=5)

2. What were the main teachings of 

follow Jainism ?  (4+1=5) 

 

DELHI PUBLIC SCHOOL
                    SAIL TOWNSHIP, RANCHI 

HALF YEARLY EXAMINATION (2021-2022)

                                                           Subject:

                                       F.M. :

All Questions are compulsory. 

Marks are indicated against each question.  

HISTORY 

       

Which language was earlier used by common people? 

The site of Burzahom is situated in 

In earlier cities, the part to the west was smaller but higher and was called: 

Answer the following questions:        

Name the cave where traces of ash were found. 

language used to compose the Vedas? 

       

What do you mean by inscriptions? What was the advantage of writing on a hard surface

Why did hunter gatherers move from place to place ? Give three reasons.   (1+1+1=3)

hat ways are the books we read today different from the Rigveda ?  (1+1+1=3)

Define Megalith. How do burials help in understanding social differences ?  (1+2=3)

Answer the following questions in detail:.       

How do archaeologists know that cloth was used in the Harappan civilization ? What reasons 

have been given by the historians for the decline of Indus Valley Civilization ?  (3+2=5)

What were the main teachings of Buddha? Why was it difficult for farmers, artisans and craftsmen to 

Pg – 1 of 3 

DELHI PUBLIC SCHOOL 

) 

Subject:- Social Science   

F.M. :- 80 

   [1x3=3] 

    [1x3=3] 

  [3x4=12] 

What do you mean by inscriptions? What was the advantage of writing on a hard surface? (1+2=3) 

(1+1+1=3) 

(1+1+1=3) 

Define Megalith. How do burials help in understanding social differences ?  (1+2=3) 

   [5x2=10] 

used in the Harappan civilization ? What reasons  

have been given by the historians for the decline of Indus Valley Civilization ?  (3+2=5) 

, artisans and craftsmen to 



 

 

CIVICS 

I. Choose the correct option:.         [1x2=2] 

 

1. Who was given the credit bringing Christianity to India? 

a) St. Columbus 

b) St. Thomas 

c) Lord Macaulay 

d) Lord Wellesley 

        2. Universal Adult Franchise means all ______ have a right to vote. 

   a) adults 

   b) men 

                             c) women 

                             d) propertied males 

           II. Answer the following questions:.         [1x2=2] 

1. In a monarchial form of government, who is the head of the government? 

2. Give one example of prejudice. 

         III . Answer the following questions:         [3x5=15] 

1. What is diversity? What are the advantages of diversity?      (1+2= 3) 

2. What is discrimination? Give examples of discrimination based on caste and gender.  (1+2=3) 

3. What is government? Name two essential features of a democratic government. ( 1+2=3) 

4. What is the difference between a Gram Sabha and a Gram Panchayat ?(1+1+1=3) 

5. What are the responsibilities of the Sarpanch in a Gram Panchayat ?(1+1+1=3) 

IV . Answer the following question in detail:             [5] 

1. What are the different ways in which people participate in the decision making process of  

government? 

                                                            GEOGRAPHY     

I.   Answer the following questions in very short :              [1X3=3]  

1. Name the two phases of the moon. 
2. Which line on the globe divides it into Northern and Southern Hemisphere? 
3. What is the angle of inclination of the earth’s axis with its orbital plane? 

 
II.  Answer the following questions in short:              [3X3=9] 

      1.     “Earth is called a unique planet of the solar system”. Why? (Give three points) 

      2.     Differentiate between Summer Solstice and Winter Solstice. (Write three points of each)  

      3.     How do symbols help in reading maps? (Write in three points)  

 

III. Answer the following questions in details:         [5X2=10]  

     1.    a) Define Parallels of Lititude and Meridians of Longitude. 

            b)  Why do we have Standard Time? (Give three points)       (2+3=5) 
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2.    How does leap year occur? Explain in five points.   

    

IV. Draw a diagram of Important Latitudes and Heat Zones and label it.       [3] 

  

V.   On an outline Physical Map of the World, locate and label the following: -                         [1X3=3]  

 

a) Andes Mountain 

b) Arctic Ocean 

c) Sahara Desert 
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                ¼d½ jktk us canj ds cPps dks fdl n”kk esa ik;k ¼d½ jktk us canj ds cPps dks fdl n”kk esa ik;k ¼d½ jktk us canj ds cPps dks fdl n”kk esa ik;k ¼d½ jktk us canj ds cPps dks fdl n”kk esa ik;k \\\\    

                            ¼¼¼¼i½ mNyrs & dwnrs gq,            ½ mNyrs & dwnrs gq,            ½ mNyrs & dwnrs gq,            ½ mNyrs & dwnrs gq,                ¼¼¼¼ ii½ Mky ij cSBk gqvk½ Mky ij cSBk gqvk½ Mky ij cSBk gqvk½ Mky ij cSBk gqvk    

                        ¼¼¼¼ iii½ ?kk;y vkSj vpsr voLFkk esa    ½ ?kk;y vkSj vpsr voLFkk esa    ½ ?kk;y vkSj vpsr voLFkk esa    ½ ?kk;y vkSj vpsr voLFkk esa        ¼¼¼¼ iv½ nwljs canjk½ nwljs canjk½ nwljs canjk½ nwljs canjksa ds lkFk [ksyrs gq,sa ds lkFk [ksyrs gq,sa ds lkFk [ksyrs gq,sa ds lkFk [ksyrs gq,    

                ¼[k½ “k=q ns”k dk lSfud jktk dh gR;k fdlls djuk pkgrk Fkk ¼[k½ “k=q ns”k dk lSfud jktk dh gR;k fdlls djuk pkgrk Fkk ¼[k½ “k=q ns”k dk lSfud jktk dh gR;k fdlls djuk pkgrk Fkk ¼[k½ “k=q ns”k dk lSfud jktk dh gR;k fdlls djuk pkgrk Fkk \\\\    

                            ¼¼¼¼ i    ½ ryokj ls    ¼½ ryokj ls    ¼½ ryokj ls    ¼½ ryokj ls    ¼ ii    ½ rhj ls  ½ rhj ls  ½ rhj ls  ½ rhj ls      ¼¼¼¼ iii    ½ Hkkys ls  ¼½ Hkkys ls  ¼½ Hkkys ls  ¼½ Hkkys ls  ¼ iv½ xyk nckdj ½ xyk nckdj ½ xyk nckdj ½ xyk nckdj     
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                ¼x½ vpkud canj us D;k ns[kk ¼x½ vpkud canj us D;k ns[kk ¼x½ vpkud canj us D;k ns[kk ¼x½ vpkud canj us D;k ns[kk \\\\    

                            ¼¼¼¼i½ ckx esa Vgyrs jktk dks     ½ ckx esa Vgyrs jktk dks     ½ ckx esa Vgyrs jktk dks     ½ ckx esa Vgyrs jktk dks                     ¼¼¼¼ ii)    fu”kkuk yxkrs lSfud dksfu”kkuk yxkrs lSfud dksfu”kkuk yxkrs lSfud dksfu”kkuk yxkrs lSfud dks    

                            ¼¼¼¼ iii½ ckx esa cSBs nwljs canj dks   ½ ckx esa cSBs nwljs canj dks   ½ ckx esa cSBs nwljs canj dks   ½ ckx esa cSBs nwljs canj dks                                   ¼¼¼¼iv½ “k=q ns”k ds jktk dks ½ “k=q ns”k ds jktk dks ½ “k=q ns”k ds jktk dks ½ “k=q ns”k ds jktk dks     

                ¼?k½ caanj dh d`rKrk dk jktk ij D;k çHkko iM+k ¼?k½ caanj dh d`rKrk dk jktk ij D;k çHkko iM+k ¼?k½ caanj dh d`rKrk dk jktk ij D;k çHkko iM+k ¼?k½ caanj dh d`rKrk dk jktk ij D;k çHkko iM+k \\\\    

                                ¼¼¼¼i½ canj dks iqjLd`r fd;k       ½ canj dks iqjLd`r fd;k       ½ canj dks iqjLd`r fd;k       ½ canj dks iqjLd`r fd;k                               ¼¼¼¼ ii)    vU; tkuojksa dks ikyuk “kq: fd;k  vU; tkuojksa dks ikyuk “kq: fd;k  vU; tkuojksa dks ikyuk “kq: fd;k  vU; tkuojksa dks ikyuk “kq: fd;k      

    ¼¼¼¼ iii½ mls½ mls½ mls½ mls    viuk lsod fu;qDr fd;k viuk lsod fu;qDr fd;k viuk lsod fu;qDr fd;k viuk lsod fu;qDr fd;k                 ¼¼¼¼ iv½ tkuojksa ds f”kdkj ij jksd ½ tkuojksa ds f”kdkj ij jksd ½ tkuojksa ds f”kdkj ij jksd ½ tkuojksa ds f”kdkj ij jksd yxk fn;kyxk fn;kyxk fn;kyxk fn;k    

                ¼¼¼¼³³³³½½½½    jktk us canj ds cPps dks dgk¡ ys pyus jktk us canj ds cPps dks dgk¡ ys pyus jktk us canj ds cPps dks dgk¡ ys pyus jktk us canj ds cPps dks dgk¡ ys pyus dks dks dks dks dgk dgk dgk dgk \\\\        

                                    ¼¼¼¼i½ taxy esa                   ½ taxy esa                   ½ taxy esa                   ½ taxy esa                       ¼¼¼¼ ii)        cxhps esacxhps esacxhps esacxhps esa    

                                    ¼¼¼¼ iii½ vkS’k/kky; esa              ¼½ vkS’k/kky; esa              ¼½ vkS’k/kky; esa              ¼½ vkS’k/kky; esa              ¼ iv½ egy esa½ egy esa½ egy esa½ egy esa    

II.    jsMØkWljsMØkWljsMØkWljsMØkWl    lkslk;Vh dh LFkkilkslk;Vh dh LFkkilkslk;Vh dh LFkkilkslk;Vh dh LFkkiuk dk çkjafHkd mn~ns”; gS & ekuoek= dh lsok djukA uk dk çkjafHkd mn~ns”; gS & ekuoek= dh lsok djukA uk dk çkjafHkd mn~ns”; gS & ekuoek= dh lsok djukA uk dk çkjafHkd mn~ns”; gS & ekuoek= dh lsok djukA     

       bldh bldh bldh bldh LFkkiLFkkiLFkkiLFkkiukukukuk    dk çLrko 1864 bZdk çLrko 1864 bZdk çLrko 1864 bZdk çLrko 1864 bZ----    ds tsusok varjkZ’Vªh; lEesyu esa Lohdkj fd;k x;kA ds tsusok varjkZ’Vªh; lEesyu esa Lohdkj fd;k x;kA ds tsusok varjkZ’Vªh; lEesyu esa Lohdkj fd;k x;kA ds tsusok varjkZ’Vªh; lEesyu esa Lohdkj fd;k x;kA     

                        bl rjg igyh ckj ekuo lsok djus okyh lkslbl rjg igyh ckj ekuo lsok djus okyh lkslbl rjg igyh ckj ekuo lsok djus okyh lkslbl rjg igyh ckj ekuo lsok djus okyh lkslk;Vh dk tUe gqvkA jsMØkWl lkslk;k;Vh dk tUe gqvkA jsMØkWl lkslk;k;Vh dk tUe gqvkA jsMØkWl lkslk;k;Vh dk tUe gqvkA jsMØkWl lkslk;Vh dk Vh dk Vh dk Vh dk     

                            fpg~ufpg~ufpg~ufpg~u    fLoV~tjySaM ds jk’Vª/ot ls dkQh lekurk j[krk gSA “kq: esa dsoy pkSng ns”kksa us fLoV~tjySaM ds jk’Vª/ot ls dkQh lekurk j[krk gSA “kq: esa dsoy pkSng ns”kksa us fLoV~tjySaM ds jk’Vª/ot ls dkQh lekurk j[krk gSA “kq: esa dsoy pkSng ns”kksa us fLoV~tjySaM ds jk’Vª/ot ls dkQh lekurk j[krk gSA “kq: esa dsoy pkSng ns”kksa us     

                            bldh lnL;rk xzg.k dh] ijarq vc lalkj ds lHkh ns”k blds lnL; gSaA vc ;g la[;k ;q) bldh lnL;rk xzg.k dh] ijarq vc lalkj ds lHkh ns”k blds lnL; gSaA vc ;g la[;k ;q) bldh lnL;rk xzg.k dh] ijarq vc lalkj ds lHkh ns”k blds lnL; gSaA vc ;g la[;k ;q) bldh lnL;rk xzg.k dh] ijarq vc lalkj ds lHkh ns”k blds lnL; gSaA vc ;g la[;k ;q)     

    ds vykok “kkafr ds le; esa Hkh yksxksa dh lsok djrh gSAds vykok “kkafr ds le; esa Hkh yksxksa dh lsok djrh gSAds vykok “kkafr ds le; esa Hkh yksxksa dh lsok djrh gSAds vykok “kkafr ds le; esa Hkh yksxksa dh lsok djrh gSA    ;g laLFkk fofHkUu çkd`frd ;g laLFkk fofHkUu çkd`frd ;g laLFkk fofHkUu çkd`frd ;g laLFkk fofHkUu çkd`frd     

    vvvvkinkvksa] vdky] ck<+] egkekjh] rwQku] Hkwdai ihfM+rksa vkSj “kj.kkinkvksa] vdky] ck<+] egkekjh] rwQku] Hkwdai ihfM+rksa vkSj “kj.kkinkvksa] vdky] ck<+] egkekjh] rwQku] Hkwdai ihfM+rksa vkSj “kj.kkinkvksa] vdky] ck<+] egkekjh] rwQku] Hkwdai ihfM+rksa vkSj “kj.kkkkkfFkZ;ksa dh fo”ks’k :Ik ls fFkZ;ksa dh fo”ks’k :Ik ls fFkZ;ksa dh fo”ks’k :Ik ls fFkZ;ksa dh fo”ks’k :Ik ls     

    enn djrh gSA ekuork dh lsok ds fy, yksxksa }kjk LosPNkiwoZd fn;k x;k nku fofHkUu enn djrh gSA ekuork dh lsok ds fy, yksxksa }kjk LosPNkiwoZd fn;k x;k nku fofHkUu enn djrh gSA ekuork dh lsok ds fy, yksxksa }kjk LosPNkiwoZd fn;k x;k nku fofHkUu enn djrh gSA ekuork dh lsok ds fy, yksxksa }kjk LosPNkiwoZd fn;k x;k nku fofHkUu     

    ns”kksa dh ljdkjksa }kjk fn;k x;k /ku bl laLFkk dh vk; dk lzksr gSAns”kksa dh ljdkjksa }kjk fn;k x;k /ku bl laLFkk dh vk; dk lzksr gSAns”kksa dh ljdkjksa }kjk fn;k x;k /ku bl laLFkk dh vk; dk lzksr gSAns”kksa dh ljdkjksa }kjk fn;k x;k /ku bl laLFkk dh vk; dk lzksr gSA    

                        ¼d½ ¼d½ ¼d½ ¼d½ jsMØkWl dh LFkkiuk D;ksa dh xbZ jsMØkWl dh LFkkiuk D;ksa dh xbZ jsMØkWl dh LFkkiuk D;ksa dh xbZ jsMØkWl dh LFkkiuk D;ksa dh xbZ \\\\                                    [1x5=5]    

                            ¼¼¼¼ i½ fo”o”kkafr ds fy, ½ fo”o”kkafr ds fy, ½ fo”o”kkafr ds fy, ½ fo”o”kkafr ds fy,     

                            ¼¼¼¼ ii½ fo”oHkj ds yksxksa dh lsok ds fy,  ½ fo”oHkj ds yksxksa dh lsok ds fy,  ½ fo”oHkj ds yksxksa dh lsok ds fy,  ½ fo”oHkj ds yksxksa dh lsok ds fy,      

                            ¼¼¼¼ iii½ fo”o i;kZoj.k cpkus ds fy,½ fo”o i;kZoj.k cpkus ds fy,½ fo”o i;kZoj.k cpkus ds fy,½ fo”o i;kZoj.k cpkus ds fy,    

                            ¼¼¼¼ iv½ fo”o esa lEesyu djokus ds fy,½ fo”o esa lEesyu djokus ds fy,½ fo”o esa lEesyu djokus ds fy,½ fo”o esa lEesyu djokus ds fy,    
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                    ¼[k½ jsMØkWl dk fpg~¼[k½ jsMØkWl dk fpg~¼[k½ jsMØkWl dk fpg~¼[k½ jsMØkWl dk fpg~u u u u fdl ns”k ds jk’Vª&/ot ds leku gS fdl ns”k ds jk’Vª&/ot ds leku gS fdl ns”k ds jk’Vª&/ot ds leku gS fdl ns”k ds jk’Vª&/ot ds leku gS \\\\    

                            ¼¼¼¼ i½ ½ ½ ½     Hkkjr      ¼Hkkjr      ¼Hkkjr      ¼Hkkjr      ¼ ii½ fLoV~tjySaM         ½ fLoV~tjySaM         ½ fLoV~tjySaM         ½ fLoV~tjySaM         ¼¼¼¼ iii½ ½ ½ ½     uhnjySaM  uhnjySaM  uhnjySaM  uhnjySaM              ¼¼¼¼ iv½½½½    baXySaMbaXySaMbaXySaMbaXySaM    

                    ¼x½ orZeku esa ¼x½ orZeku esa ¼x½ orZeku esa ¼x½ orZeku esa jsMØkWljsMØkWljsMØkWljsMØkWl    lkslk;lkslk;lkslk;lkslk;VhVhVhVh    ds lnL; ds lnL; ds lnL; ds lnL; fdrus ns”kfdrus ns”kfdrus ns”kfdrus ns”k    gSgSgSgS\\\\        

                                ¼¼¼¼i½ ,d lkS  ½ ,d lkS  ½ ,d lkS  ½ ,d lkS                  ¼¼¼¼ ii½ fo”o ds lHkh ns”k ½ fo”o ds lHkh ns”k ½ fo”o ds lHkh ns”k ½ fo”o ds lHkh ns”k             ¼¼¼¼ iii½ pkSng ½ pkSng ½ pkSng ½ pkSng                             ¼¼¼¼ iv½ fo”o ds vk/ks ns”k½ fo”o ds vk/ks ns”k½ fo”o ds vk/ks ns”k½ fo”o ds vk/ks ns”k    

                    ¼?k½ jsMØkWl dh vk; dk lk/ku buesa ls D;k gS ¼?k½ jsMØkWl dh vk; dk lk/ku buesa ls D;k gS ¼?k½ jsMØkWl dh vk; dk lk/ku buesa ls D;k gS ¼?k½ jsMØkWl dh vk; dk lk/ku buesa ls D;k gS \\\\    

                                ¼¼¼¼i½ LosPNk ls fn;k x;k nku rFkk lnL; ns”kksa n~okjk fn;k x;k /ku½ LosPNk ls fn;k x;k nku rFkk lnL; ns”kksa n~okjk fn;k x;k /ku½ LosPNk ls fn;k x;k nku rFkk lnL; ns”kksa n~okjk fn;k x;k /ku½ LosPNk ls fn;k x;k nku rFkk lnL; ns”kksa n~okjk fn;k x;k /ku    

                            ¼¼¼¼ ii½ lnL; ns”kksa ls fy;k x;k pank½ lnL; ns”kksa ls fy;k x;k pank½ lnL; ns”kksa ls fy;k x;k pank½ lnL; ns”kksa ls fy;k x;k pank    

                            ¼¼¼¼ iii½ fo”o cSad ls çkIr /ku½ fo”o cSad ls çkIr /ku½ fo”o cSad ls çkIr /ku½ fo”o cSad ls çkIr /ku    

                            ¼¼¼¼ iv½ ykHkkfUor yksxksa ½ ykHkkfUor yksxksa ½ ykHkkfUor yksxksa ½ ykHkkfUor yksxksa n~okjk olwyk x;k /kun~okjk olwyk x;k /kun~okjk olwyk x;k /kun~okjk olwyk x;k /ku    

                        ¼³¼³¼³¼³½ jsMØkWl lkslkbVh dh LFkkiuk dk çLrko dgk¡ ds varjkZ’Vªh; lEesyu esa½ jsMØkWl lkslkbVh dh LFkkiuk dk çLrko dgk¡ ds varjkZ’Vªh; lEesyu esa½ jsMØkWl lkslkbVh dh LFkkiuk dk çLrko dgk¡ ds varjkZ’Vªh; lEesyu esa½ jsMØkWl lkslkbVh dh LFkkiuk dk çLrko dgk¡ ds varjkZ’Vªh; lEesyu esa    Lohdkj fd;k x;k Lohdkj fd;k x;k Lohdkj fd;k x;k Lohdkj fd;k x;k \\\\    

                            ¼¼¼¼i½ ½ ½ ½ tsusok ds      tsusok ds      tsusok ds      tsusok ds          ¼¼¼¼ ii½  cS½  cS½  cS½  cSaa aadkWd ds   dkWd ds   dkWd ds   dkWd ds           ¼¼¼¼ iii½ isfjl ds  ½ isfjl ds  ½ isfjl ds  ½ isfjl ds              ¼¼¼¼ iv½ U;w;kdZ ds ½ U;w;kdZ ds ½ U;w;kdZ ds ½ U;w;kdZ ds     

ç”u ¼2½ fn, x, ç”u ¼2½ fn, x, ç”u ¼2½ fn, x, ç”u ¼2½ fn, x, iz”uksa ds iz”uksa ds iz”uksa ds iz”uksa ds fodYiksa esa ls mfpr fodYifodYiksa esa ls mfpr fodYifodYiksa esa ls mfpr fodYifodYiksa esa ls mfpr fodYi    pqusa&pqusa&pqusa&pqusa&                        [1x18=18]    

                            ¼¼¼¼i½ fdlh Hkk’kk dks fyf[kr :i nsus ds fy, fuEufyf[kr esa ls fdldh½ fdlh Hkk’kk dks fyf[kr :i nsus ds fy, fuEufyf[kr esa ls fdldh½ fdlh Hkk’kk dks fyf[kr :i nsus ds fy, fuEufyf[kr esa ls fdldh½ fdlh Hkk’kk dks fyf[kr :i nsus ds fy, fuEufyf[kr esa ls fdldh    vko”;drk gS vko”;drk gS vko”;drk gS vko”;drk gS \\\\    

                                                ¼d½ Loj dh    ¼[k½ fyfi dh  ¼d½ Loj dh    ¼[k½ fyfi dh  ¼d½ Loj dh    ¼[k½ fyfi dh  ¼d½ Loj dh    ¼[k½ fyfi dh          ¼x½ ladsr dh   ¼?k½ jk’VªHkk’kk dh¼x½ ladsr dh   ¼?k½ jk’VªHkk’kk dh¼x½ ladsr dh   ¼?k½ jk’VªHkk’kk dh¼x½ ladsr dh   ¼?k½ jk’VªHkk’kk dh    

                            ¼¼¼¼ ii½ *d½ *d½ *d½ *dfork ikBfork ikBfork ikBfork ikB****    djuk Hkk’kk dk dkSu lk :i gS djuk Hkk’kk dk dkSu lk :i gS djuk Hkk’kk dk dkSu lk :i gS djuk Hkk’kk dk dkSu lk :i gS \\\\    

                                                ¼d½ ekSf[kd   ¼d½ ekSf[kd   ¼d½ ekSf[kd   ¼d½ ekSf[kd           ¼[k½ fyf[kr  ¼[k½ fyf[kr  ¼[k½ fyf[kr  ¼[k½ fyf[kr              ¼x½ “kqn~/k  ¼x½ “kqn~/k  ¼x½ “kqn~/k  ¼x½ “kqn~/k                      ¼?k½ v”kqn~/k¼?k½ v”kqn~/k¼?k½ v”kqn~/k¼?k½ v”kqn~/k    

                            ¼¼¼¼ iii½ ^d”ehjh* Hkk’kk dh fyfi D;k gS ½ ^d”ehjh* Hkk’kk dh fyfi D;k gS ½ ^d”ehjh* Hkk’kk dh fyfi D;k gS ½ ^d”ehjh* Hkk’kk dh fyfi D;k gS \\\\    

                                                    ¼d½ xq#¼d½ xq#¼d½ xq#¼d½ xq#eq[kh   ¼[k½ nsoukxjh   ¼x½ jkseu  eq[kh   ¼[k½ nsoukxjh   ¼x½ jkseu  eq[kh   ¼[k½ nsoukxjh   ¼x½ jkseu  eq[kh   ¼[k½ nsoukxjh   ¼x½ jkseu                  ¼?k½ Qkjlh¼?k½ Qkjlh¼?k½ Qkjlh¼?k½ Qkjlh    

                                ¼¼¼¼iv½ Hkk’kk dh lcls NksVh bdkbZ D;k dgykrh gS ½ Hkk’kk dh lcls NksVh bdkbZ D;k dgykrh gS ½ Hkk’kk dh lcls NksVh bdkbZ D;k dgykrh gS ½ Hkk’kk dh lcls NksVh bdkbZ D;k dgykrh gS \\\\    

                                                    ¼d½ o.kZ    ¼d½ o.kZ    ¼d½ o.kZ    ¼d½ o.kZ                ¼[k½ “kCn   ¼[k½ “kCn   ¼[k½ “kCn   ¼[k½ “kCn       ¼x½ O;atu   ¼x½ O;atu   ¼x½ O;atu   ¼x½ O;atu                       ¼?k½ okD; ¼?k½ okD; ¼?k½ okD; ¼?k½ okD;     

            ¼¼¼¼v½ O;atuksa dh dqy la[;k fdruh gS½ O;atuksa dh dqy la[;k fdruh gS½ O;atuksa dh dqy la[;k fdruh gS½ O;atuksa dh dqy la[;k fdruh gS\\\\        

                                                    ¼d½ 25   ¼d½ 25   ¼d½ 25   ¼d½ 25                       ¼[k½ 33  ¼[k½ 33  ¼[k½ 33  ¼[k½ 33          ¼x½ 52  ¼x½ 52  ¼x½ 52  ¼x½ 52                          ¼?k½ 7 ¼?k½ 7 ¼?k½ 7 ¼?k½ 7     
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                                    ¼¼¼¼vi½ fuEufuf[kr esa ls dkSu&ls fodYi ds lHkh “kCn iqfYayx gS ½ fuEufuf[kr esa ls dkSu&ls fodYi ds lHkh “kCn iqfYayx gS ½ fuEufuf[kr esa ls dkSu&ls fodYi ds lHkh “kCn iqfYayx gS ½ fuEufuf[kr esa ls dkSu&ls fodYi ds lHkh “kCn iqfYayx gS \\\\    

                                                        ¼d½ o`n~/k]¼d½ o`n~/k]¼d½ o`n~/k]¼d½ o`n~/k]    ukSdj]ukSdj]ukSdj]ukSdj]    ykyk   ykyk   ykyk   ykyk                                   ¼[k½ o~n~/k]¼[k½ o~n~/k]¼[k½ o~n~/k]¼[k½ o~n~/k]    yqfV;k]yqfV;k]yqfV;k]yqfV;k]    ckcwckcwckcwckcw    

                                                        ¼x½ v/;kid]¼x½ v/;kid]¼x½ v/;kid]¼x½ v/;kid]    nklh]nklh]nklh]nklh]    ekfyu ekfyu ekfyu ekfyu             ¼?k½ ysf[kdk]¼?k½ ysf[kdk]¼?k½ ysf[kdk]¼?k½ ysf[kdk]    lsB]lsB]lsB]lsB]    ikihikihikihikih    

                                    ¼¼¼¼vii½ fuEufyf[kr fodYiksa esa “kCn ds “kqn~/k :i pqusa%&½ fuEufyf[kr fodYiksa esa “kCn ds “kqn~/k :i pqusa%&½ fuEufyf[kr fodYiksa esa “kCn ds “kqn~/k :i pqusa%&½ fuEufyf[kr fodYiksa esa “kCn ds “kqn~/k :i pqusa%&        

                                                            ¼d½ lIrkfgd ¼d½ lIrkfgd ¼d½ lIrkfgd ¼d½ lIrkfgd     ¼[k½ lkIrkfgd  ¼[k½ lkIrkfgd  ¼[k½ lkIrkfgd  ¼[k½ lkIrkfgd      ¼x½ lkIrkghd ¼x½ lkIrkghd ¼x½ lkIrkghd ¼x½ lkIrkghd     ¼?k½ lIrkghd¼?k½ lIrkghd¼?k½ lIrkghd¼?k½ lIrkghd    

                                    ¼¼¼¼viii    ½ fuEufyf[kr “kCnksa esa ls leqnk;okpd laKk “kCn pqusa&½ fuEufyf[kr “kCnksa esa ls leqnk;okpd laKk “kCn pqusa&½ fuEufyf[kr “kCnksa esa ls leqnk;okpd laKk “kCn pqusa&½ fuEufyf[kr “kCnksa esa ls leqnk;okpd laKk “kCn pqusa&    

                                                                    ¼d½ lsuk   ¼d½ lsuk   ¼d½ lsuk   ¼d½ lsuk           ¼[k½ rqylhnkl  ¼[k½ rqylhnkl  ¼[k½ rqylhnkl  ¼[k½ rqylhnkl      ¼x½ dNqvk  ¼x½ dNqvk  ¼x½ dNqvk  ¼x½ dNqvk          ¼?k½ rsy¼?k½ rsy¼?k½ rsy¼?k½ rsy    

                                        ¼¼¼¼ix½ ^ckyd* “kCn dk Hkko½ ^ckyd* “kCn dk Hkko½ ^ckyd* “kCn dk Hkko½ ^ckyd* “kCn dk Hkkookpd laKk D;k gksXkk okpd laKk D;k gksXkk okpd laKk D;k gksXkk okpd laKk D;k gksXkk \\\\    

                                                                    ¼d½ cpiu  ¼d½ cpiu  ¼d½ cpiu  ¼d½ cpiu          ¼[k½¼[k½¼[k½¼[k½    ckyiu  ckyiu  ckyiu  ckyiu      ¼x½ ckydiu  ¼x½ ckydiu  ¼x½ ckydiu  ¼x½ ckydiu      ¼?k½ ckyk¼?k½ ckyk¼?k½ ckyk¼?k½ ckyk    

                                        ¼¼¼¼x½ ^u’V Hkz’V dj nsuk* vFkZ ds fy, mfpr eqgkojk pqusa½ ^u’V Hkz’V dj nsuk* vFkZ ds fy, mfpr eqgkojk pqusa½ ^u’V Hkz’V dj nsuk* vFkZ ds fy, mfpr eqgkojk pqusa½ ^u’V Hkz’V dj nsuk* vFkZ ds fy, mfpr eqgkojk pqusa    &&&&    

                                                                    ¼d½ bZaV ls bZaV ctkuk ¼d½ bZaV ls bZaV ctkuk ¼d½ bZaV ls bZaV ctkuk ¼d½ bZaV ls bZaV ctkuk         ¼[k½ vDy ij iRFkj iM+uk¼[k½ vDy ij iRFkj iM+uk¼[k½ vDy ij iRFkj iM+uk¼[k½ vDy ij iRFkj iM+uk    

                                                                    ¼x½ ,M+h&pksV¼x½ ,M+h&pksV¼x½ ,M+h&pksV¼x½ ,M+h&pksVh ,d djuk h ,d djuk h ,d djuk h ,d djuk         ¼?k½ va/ks dh ydM+h¼?k½ va/ks dh ydM+h¼?k½ va/ks dh ydM+h¼?k½ va/ks dh ydM+h    

                                    ¼¼¼¼xi    ½ ^dej dluk* eqgkojs dk mfpr vFkZ crk,¡&½ ^dej dluk* eqgkojs dk mfpr vFkZ crk,¡&½ ^dej dluk* eqgkojs dk mfpr vFkZ crk,¡&½ ^dej dluk* eqgkojs dk mfpr vFkZ crk,¡&    

                                                                    ¼d½ cgqr Fkd tkuk ¼d½ cgqr Fkd tkuk ¼d½ cgqr Fkd tkuk ¼d½ cgqr Fkd tkuk         ¼[k½ rS;kj gksuk ¼[k½ rS;kj gksuk ¼[k½ rS;kj gksuk ¼[k½ rS;kj gksuk     ¼x½ xqLlk djuk¼x½ xqLlk djuk¼x½ xqLlk djuk¼x½ xqLlk djuk        ¼?k½ /kks[kk nsuk ¼?k½ /kks[kk nsuk ¼?k½ /kks[kk nsuk ¼?k½ /kks[kk nsuk     

                                    ¼¼¼¼xii½ ½ ½ ½     laLd`r ds “kClaLd`r ds “kClaLd`r ds “kClaLd`r ds “kCn tks fgUnh esa vius ewy :i esan tks fgUnh esa vius ewy :i esan tks fgUnh esa vius ewy :i esan tks fgUnh esa vius ewy :i esasa ç;qDr gksrs gsa ç;qDr gksrs gsa ç;qDr gksrs gsa ç;qDr gksrs gaaaa S]os D;k dgykrs gSS]os D;k dgykrs gSS]os D;k dgykrs gSS]os D;k dgykrs gSaa aa    \\\\    

                                                                    ¼d½ rr~l¼d½ rr~l¼d½ rr~l¼d½ rr~le  e  e  e          ¼[k½ rn~Hko ¼[k½ rn~Hko ¼[k½ rn~Hko ¼[k½ rn~Hko         ¼x½ ns”kt  ¼x½ ns”kt  ¼x½ ns”kt  ¼x½ ns”kt          ¼?k½ fons”kt ¼?k½ fons”kt ¼?k½ fons”kt ¼?k½ fons”kt     

                                ¼¼¼¼xiii½ fuEufyf[kr “kCnksa esa ls dkSu&lk “kCn rn~Hko ugha gS ½ fuEufyf[kr “kCnksa esa ls dkSu&lk “kCn rn~Hko ugha gS ½ fuEufyf[kr “kCnksa esa ls dkSu&lk “kCn rn~Hko ugha gS ½ fuEufyf[kr “kCnksa esa ls dkSu&lk “kCn rn~Hko ugha gS \\\\    

                                                                    ¼d½xkS  ¼d½xkS  ¼d½xkS  ¼d½xkS          ¼[k½vk/kk   ¼[k½vk/kk   ¼[k½vk/kk   ¼[k½vk/kk           ¼x½ ik¡p  ¼x½ ik¡p  ¼x½ ik¡p  ¼x½ ik¡p          ¼?k½ ?kM+k¼?k½ ?kM+k¼?k½ ?kM+k¼?k½ ?kM+k    

                                    ¼¼¼¼xiv    ½ fdu o.kksZa ds mPpkj.k esa gok gekjs eq[k ls fcuk fdlh ½ fdu o.kksZa ds mPpkj.k esa gok gekjs eq[k ls fcuk fdlh ½ fdu o.kksZa ds mPpkj.k esa gok gekjs eq[k ls fcuk fdlh ½ fdu o.kksZa ds mPpkj.k esa gok gekjs eq[k ls fcuk fdlh :dkoV ds fudyrh gS :dkoV ds fudyrh gS :dkoV ds fudyrh gS :dkoV ds fudyrh gS \\\\    

                                                                    ¼d½ Loj ¼d½ Loj ¼d½ Loj ¼d½ Loj         ¼[k½ O;atu ¼[k½ O;atu ¼[k½ O;atu ¼[k½ O;atu         ¼x½ la;qDr O;atu ¼x½ la;qDr O;atu ¼x½ la;qDr O;atu ¼x½ la;qDr O;atu     ¼?k½ Li”kZ O;atu¼?k½ Li”kZ O;atu¼?k½ Li”kZ O;atu¼?k½ Li”kZ O;atu    

                                    ¼¼¼¼xv½ fuEufyf[kr “kCnksa esa ½ fuEufyf[kr “kCnksa esa ½ fuEufyf[kr “kCnksa esa ½ fuEufyf[kr “kCnksa esa ls ls ls ls ^lw;Z* dk i;kZ;okph “kCn pqusa&^lw;Z* dk i;kZ;okph “kCn pqusa&^lw;Z* dk i;kZ;okph “kCn pqusa&^lw;Z* dk i;kZ;okph “kCn pqusa&    

                                                                    ¼d½ jfo    ¼d½ jfo    ¼d½ jfo    ¼d½ jfo            ¼[k½ jkds”k  ¼[k½ jkds”k  ¼[k½ jkds”k  ¼[k½ jkds”k          ¼x½ ih;w’k  ¼x½ ih;w’k  ¼x½ ih;w’k  ¼x½ ih;w’k          ¼?k½ dsljh¼?k½ dsljh¼?k½ dsljh¼?k½ dsljh    

                                    ¼¼¼¼xvi½ fuE½ fuE½ fuE½ fuEufyf[kr fodYiksa esa dkSu lk fodYi ^xaxk* dk i;kZ;okph “kCn gSufyf[kr fodYiksa esa dkSu lk fodYi ^xaxk* dk i;kZ;okph “kCn gSufyf[kr fodYiksa esa dkSu lk fodYi ^xaxk* dk i;kZ;okph “kCn gSufyf[kr fodYiksa esa dkSu lk fodYi ^xaxk* dk i;kZ;okph “kCn gS\\\\    

                                                                    ¼d½ vfuy]lehj ¼d½ vfuy]lehj ¼d½ vfuy]lehj ¼d½ vfuy]lehj     ¼[k½ vfHk;]lq/kk ¼[k½ vfHk;]lq/kk ¼[k½ vfHk;]lq/kk ¼[k½ vfHk;]lq/kk     ¼x½ nsounh]tk¼x½ nsounh]tk¼x½ nsounh]tk¼x½ nsounh]tkg~g~g~g~uoh uoh uoh uoh     ¼?k½ olq/kk]egh¼?k½ olq/kk]egh¼?k½ olq/kk]egh¼?k½ olq/kk]egh    
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                                        ¼¼¼¼ xvii½ ½ ½ ½     tks cM+k HkkbZ gks]mls dgk tkrk gS&tks cM+k HkkbZ gks]mls dgk tkrk gS&tks cM+k HkkbZ gks]mls dgk tkrk gS&tks cM+k HkkbZ gks]mls dgk tkrk gS&    

                                                                            ¼d½ nk”kZfud ¼d½ nk”kZfud ¼d½ nk”kZfud ¼d½ nk”kZfud     ¼[k½ vuqt ¼[k½ vuqt ¼[k½ vuqt ¼[k½ vuqt         ¼x½ vxzt ¼x½ vxzt ¼x½ vxzt ¼x½ vxzt     ¼?k½ “kk”o¼?k½ “kk”o¼?k½ “kk”o¼?k½ “kk”orrrr    

                                            ¼¼¼¼xviii½ js[kkafdr “kCn dk foykse “kCn pqudj fjDr LFkku Hkjsa%& O;fDr dks viuh ½ js[kkafdr “kCn dk foykse “kCn pqudj fjDr LFkku Hkjsa%& O;fDr dks viuh ½ js[kkafdr “kCn dk foykse “kCn pqudj fjDr LFkku Hkjsa%& O;fDr dks viuh ½ js[kkafdr “kCn dk foykse “kCn pqudj fjDr LFkku Hkjsa%& O;fDr dks viuh vk;vk;vk;vk;        
                                                                            ds vuqlkj gh ds vuqlkj gh ds vuqlkj gh ds vuqlkj gh ----------------------------------------------------    djuk pkfg,Adjuk pkfg,Adjuk pkfg,Adjuk pkfg,A    

                                                                            ¼d½ var ¼d½ var ¼d½ var ¼d½ var         ¼[k½ nku ¼[k½ nku ¼[k½ nku ¼[k½ nku         ¼x½ vkenuh ¼x½ vkenuh ¼x½ vkenuh ¼x½ vkenuh             ¼?k½ O;;¼?k½ O;;¼?k½ O;;¼?k½ O;;    

ç”u ¼3½ç”u ¼3½ç”u ¼3½ç”u ¼3½    ¼¼¼¼i½ ½ ½ ½     ^og fpfM+;k tks* uked dfork esa fpfM+;k dk jax dSlk gS ^og fpfM+;k tks* uked dfork esa fpfM+;k dk jax dSlk gS ^og fpfM+;k tks* uked dfork esa fpfM+;k dk jax dSlk gS ^og fpfM+;k tks* uked dfork esa fpfM+;k dk jax dSlk gS \\\\                [1x3=3]    

                                            ¼d½ lQsn ¼d½ lQsn ¼d½ lQsn ¼d½ lQsn         ¼[k½ gYdk gjk ¼[k½ gYdk gjk ¼[k½ gYdk gjk ¼[k½ gYdk gjk         ¼x½ ihyk ¼x½ ihyk ¼x½ ihyk ¼x½ ihyk         ¼?k½ uhyk¼?k½ uhyk¼?k½ uhyk¼?k½ uhyk    

                                ¼¼¼¼ii½ ^uknku nksLr* uked ikB esa fpfM+;k us fdrus vaMs fn, Fks½ ^uknku nksLr* uked ikB esa fpfM+;k us fdrus vaMs fn, Fks½ ^uknku nksLr* uked ikB esa fpfM+;k us fdrus vaMs fn, Fks½ ^uknku nksLr* uked ikB esa fpfM+;k us fdrus vaMs fn, Fks\\\\    

                                                ¼d½ 4  ¼d½ 4  ¼d½ 4  ¼d½ 4          ¼[k½ 2  ¼[k½ 2  ¼[k½ 2  ¼[k½ 2              ¼x½ 1 ¼x½ 1 ¼x½ 1 ¼x½ 1             ¼?k½ 3¼?k½ 3¼?k½ 3¼?k½ 3    

                                ¼¼¼¼iii½ ^,sls&,sls* uked ikB esa eksgu ds iM+kslh dk uke D;k Fkk½ ^,sls&,sls* uked ikB esa eksgu ds iM+kslh dk uke D;k Fkk½ ^,sls&,sls* uked ikB esa eksgu ds iM+kslh dk uke D;k Fkk½ ^,sls&,sls* uked ikB esa eksgu ds iM+kslh dk uke D;k Fkk\\\\    

                                                        ¼d½ nhukukFk  ¼d½ nhukukFk  ¼d½ nhukukFk  ¼d½ nhukukFk      ¼[k½ nhuukFk ¼[k½ nhuukFk ¼[k½ nhuukFk ¼[k½ nhuukFk             ¼x½ nhuknkl ¼x½ nhuknkl ¼x½ nhuknkl ¼x½ nhuknkl         ¼?k½ nhukjk;¼?k½ nhukjk;¼?k½ nhukjk;¼?k½ nhukjk;    

ç”u ¼4½ fuEufyf[kr ifBr x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, ç”uksa ds mfprç”u ¼4½ fuEufyf[kr ifBr x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, ç”uksa ds mfprç”u ¼4½ fuEufyf[kr ifBr x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, ç”uksa ds mfprç”u ¼4½ fuEufyf[kr ifBr x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, ç”uksa ds mfpr    mÙkj pqusa%&mÙkj pqusa%&mÙkj pqusa%&mÙkj pqusa%&    

D;kD;kD;kD;k    ;g laHko gS fd Hkyk dksbZ taxy esa ?kaVkHkj ?kwes vkSj fQj Hkh dksbZ fo”ks’k pht u ;g laHko gS fd Hkyk dksbZ taxy esa ?kaVkHkj ?kwes vkSj fQj Hkh dksbZ fo”ks’k pht u ;g laHko gS fd Hkyk dksbZ taxy esa ?kaVkHkj ?kwes vkSj fQj Hkh dksbZ fo”ks’k pht u ;g laHko gS fd Hkyk dksbZ taxy esa ?kaVkHkj ?kwes vkSj fQj Hkh dksbZ fo”ks’k pht u     

ns[ksA ns[ksA ns[ksA ns[ksA     eq>s&eq>s&eq>s&eq>s&    ftls dqN Hkh fn[kkbZ ugha nsrk lSdM+ksa jkspd phtsa feyrh gSa] ftUgsa eSa Nwdj igpku ftls dqN Hkh fn[kkbZ ugha nsrk lSdM+ksa jkspd phtsa feyrh gSa] ftUgsa eSa Nwdj igpku ftls dqN Hkh fn[kkbZ ugha nsrk lSdM+ksa jkspd phtsa feyrh gSa] ftUgsa eSa Nwdj igpku ftls dqN Hkh fn[kkbZ ugha nsrk lSdM+ksa jkspd phtsa feyrh gSa] ftUgsa eSa Nwdj igpku     

ysrh gw¡A eSa Hkkst&i= ds isM+ dhysrh gw¡A eSa Hkkst&i= ds isM+ dhysrh gw¡A eSa Hkkst&i= ds isM+ dhysrh gw¡A eSa Hkkst&i= ds isM+ dh    fpduh Nky vkSj phM+ dh [kqjnjhfpduh Nky vkSj phM+ dh [kqjnjhfpduh Nky vkSj phM+ dh [kqjnjhfpduh Nky vkSj phM+ dh [kqjnjh    Nky dkNky dkNky dkNky dks Li”kZ ls igpku s Li”kZ ls igpku s Li”kZ ls igpku s Li”kZ ls igpku     

ysrh gw¡A olar ds nkSjkuysrh gw¡A olar ds nkSjkuysrh gw¡A olar ds nkSjkuysrh gw¡A olar ds nkSjku    eSa Vgfu;ksa esa u;h dfy;ksa eSa Vgfu;ksa esa u;h dfy;ksa eSa Vgfu;ksa esa u;h dfy;ksa eSa Vgfu;ksa esa u;h dfy;ksa dks dks dks dks [kkstrh gw¡A eq>s Qwyksa dh ia[kqfM+;ksa dh [kkstrh gw¡A eq>s Qwyksa dh ia[kqfM+;ksa dh [kkstrh gw¡A eq>s Qwyksa dh ia[kqfM+;ksa dh [kkstrh gw¡A eq>s Qwyksa dh ia[kqfM+;ksa dh     

e[kee[kee[kee[keyh lrgyh lrgyh lrgyh lrg    NwNwNwNwus vkSj mudh ?kqekonkj cukoV eglwl djus esa vikj vkuan feyrk gSA bl us vkSj mudh ?kqekonkj cukoV eglwl djus esa vikj vkuan feyrk gSA bl us vkSj mudh ?kqekonkj cukoV eglwl djus esa vikj vkuan feyrk gSA bl us vkSj mudh ?kqekonkj cukoV eglwl djus esa vikj vkuan feyrk gSA bl     

nkSjku eq>s çd`fr dk tknw dk dqN vglkl gksrk gSAnkSjku eq>s çd`fr dk tknw dk dqN vglkl gksrk gSAnkSjku eq>s çd`fr dk tknw dk dqN vglkl gksrk gSAnkSjku eq>s çd`fr dk tknw dk dqN vglkl gksrk gSA    

                            ¼¼¼¼i½ mi;qZDr x|ka”k esa dgk¡ dh lSj dh ckr dh xbZ gS½ mi;qZDr x|ka”k esa dgk¡ dh lSj dh ckr dh xbZ gS½ mi;qZDr x|ka”k esa dgk¡ dh lSj dh ckr dh xbZ gS½ mi;qZDr x|ka”k esa dgk¡ dh lSj dh ckr dh xbZ gS\\\\                    [1x5=5]    

                                            ¼d½ eksgYys dh ¼d½ eksgYys dh ¼d½ eksgYys dh ¼d½ eksgYys dh         ¼[k½ taxy dh ¼[k½ taxy dh ¼[k½ taxy dh ¼[k½ taxy dh     ¼x½ cxhps dh¼x½ cxhps dh¼x½ cxhps dh¼x½ cxhps dh            ¼?k½ ikdZ dh¼?k½ ikdZ dh¼?k½ ikdZ dh¼?k½ ikdZ dh    

                            ¼¼¼¼ii½ gsysu dsyj lSdM+ksa jkspd phtksa dks dSls igpku ysrh Fkh½ gsysu dsyj lSdM+ksa jkspd phtksa dks dSls igpku ysrh Fkh½ gsysu dsyj lSdM+ksa jkspd phtksa dks dSls igpku ysrh Fkh½ gsysu dsyj lSdM+ksa jkspd phtksa dks dSls igpku ysrh Fkh\\\\    

                                                ¼d½ ns[kdj ¼d½ ns[kdj ¼d½ ns[kdj ¼d½ ns[kdj                                 ¼[k½ Li”kZ dj ¼[k½ Li”kZ dj ¼[k½ Li”kZ dj ¼[k½ Li”kZ dj     ¼x½ p[kdj ¼x½ p[kdj ¼x½ p[kdj ¼x½ p[kdj         ¼?k½ lw¡?kdj¼?k½ lw¡?kdj¼?k½ lw¡?kdj¼?k½ lw¡?kdj    

                            ¼¼¼¼iii½ ^Hkksti=* fdl pht dk uke gS½ ^Hkksti=* fdl pht dk uke gS½ ^Hkksti=* fdl pht dk uke gS½ ^Hkksti=* fdl pht dk uke gS\\\\    

                                                ¼d½ Qy dk ¼d½ Qy dk ¼d½ Qy dk ¼d½ Qy dk             ¼[k½ Qwy dk ¼[k½ Qwy dk ¼[k½ Qwy dk ¼[k½ Qwy dk         ¼x½ o`{k dk ¼x½ o`{k dk ¼x½ o`{k dk ¼x½ o`{k dk             ¼?k½ ,d çdkj dh¼?k½ ,d çdkj dh¼?k½ ,d çdkj dh¼?k½ ,d çdkj dh    ?kkl?kkl?kkl?kkl    dkdkdkdk    
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                                        ¼¼¼¼ iv½ u;h d½ u;h d½ u;h d½ u;h dfy;ksa dh [fy;ksa dh [fy;ksa dh [fy;ksa dh [kkst ysf[kdk fdl _rq esa djrhkkst ysf[kdk fdl _rq esa djrhkkst ysf[kdk fdl _rq esa djrhkkst ysf[kdk fdl _rq esa djrh    gSgSgSgS\\\\    

                                                    ¼d½ “kjn _rq esa¼d½ “kjn _rq esa¼d½ “kjn _rq esa¼d½ “kjn _rq esa    ¼[k½ xzh’e _rq esa ¼[k½ xzh’e _rq esa ¼[k½ xzh’e _rq esa ¼[k½ xzh’e _rq esa     ¼x½ olar _rq esa ¼x½ olar _rq esa ¼x½ olar _rq esa ¼x½ olar _rq esa     ¼?k½ o’kkZ _rq esa¼?k½ o’kkZ _rq esa¼?k½ o’kkZ _rq esa¼?k½ o’kkZ _rq esa    

                                        ¼¼¼¼ v½ ysf[kdk ds vuqlkj Qwyksa dh ia[kqfM+;ksa dh lrg dSlh gS½ ysf[kdk ds vuqlkj Qwyksa dh ia[kqfM+;ksa dh lrg dSlh gS½ ysf[kdk ds vuqlkj Qwyksa dh ia[kqfM+;ksa dh lrg dSlh gS½ ysf[kdk ds vuqlkj Qwyksa dh ia[kqfM+;ksa dh lrg dSlh gS\\\\    

                                            ¼d½ fpduh ¼d½ fpduh ¼d½ fpduh ¼d½ fpduh         ¼[k½ [kqjnjh ¼[k½ [kqjnjh ¼[k½ [kqjnjh ¼[k½ [kqjnjh         ¼x½ e[keyh ¼x½ e[keyh ¼x½ e[keyh ¼x½ e[keyh         ¼?k½ ?kqekonkj¼?k½ ?kqekonkj¼?k½ ?kqekonkj¼?k½ ?kqekonkj    

ç”u ¼5½ ifBr iç”u ¼5½ ifBr iç”u ¼5½ ifBr iç”u ¼5½ ifBr i|ka”k dks /;kuiwoZd i<|ka”k dks /;kuiwoZd i<|ka”k dks /;kuiwoZd i<|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, ç”uksa ds mÙkj crk,¡%&+sa rFkk fn, x, ç”uksa ds mÙkj crk,¡%&+sa rFkk fn, x, ç”uksa ds mÙkj crk,¡%&+sa rFkk fn, x, ç”uksa ds mÙkj crk,¡%&   [1x4=4]    

                                        viuh iks”kkd dks QSyk, gq, pkjksa fLkEviuh iks”kkd dks QSyk, gq, pkjksa fLkEviuh iks”kkd dks QSyk, gq, pkjksa fLkEviuh iks”kkd dks QSyk, gq, pkjksa fLkEr Ar Ar Ar A    

                                    vki dqN frjNvki dqN frjNvki dqN frjNvki dqN frjNs utj vkrs gS tkus dSlss utj vkrs gS tkus dSlss utj vkrs gS tkus dSlss utj vkrs gS tkus dSls    

                                    & [kwc gS x& [kwc gS x& [kwc gS x& [kwc gS xksfdAksfdAksfdAksfdA    

                                    okg  th] okgokg  th] okgokg  th] okgokg  th] okg!!!!    

                                    gedks cqn~/kw gh fujk le>k gS!gedks cqn~/kw gh fujk le>k gS!gedks cqn~/kw gh fujk le>k gS!gedks cqn~/kw gh fujk le>k gS!    

                                    ge le>ge le>ge le>ge le>rs gh ugha tSls fd rs gh ugha tSls fd rs gh ugha tSls fd rs gh ugha tSls fd     

                                    vkidkvkidkvkidkvkidkssss    chekjh gS chekjh gS chekjh gS chekjh gS     

                                    vki ?kVrs gSvki ?kVrs gSvki ?kVrs gSvki ?kVrs gSaa aa    rks ?kVrs gh pys trks ?kVrs gh pys trks ?kVrs gh pys trks ?kVrs gh pys tkrs gkrs gkrs gkrs gaaaa S S S S     

                                    vkSj c<+rs gSvkSj c<+rs gSvkSj c<+rs gSvkSj c<+rs gSaa aa    rks cl ;kuh fd rks cl ;kuh fd rks cl ;kuh fd rks cl ;kuh fd     

c<+rs gh pys tkrs gc<+rs gh pys tkrs gc<+rs gh pys tkrs gc<+rs gh pys tkrs gaaaa S&S&S&S&    

                        ¼¼¼¼i½ ^fujk* “kCn dk vFkZ crk,¡&½ ^fujk* “kCn dk vFkZ crk,¡&½ ^fujk* “kCn dk vFkZ crk,¡&½ ^fujk* “kCn dk vFkZ crk,¡&    

                            ¼d½ fxjk gqvk ¼d½ fxjk gqvk ¼d½ fxjk gqvk ¼d½ fxjk gqvk     ¼[k½ ,dne ¼[k½ ,dne ¼[k½ ,dne ¼[k½ ,dne         ¼x½ uhj ¼x½ uhj ¼x½ uhj ¼x½ uhj         ¼?k½ pkykd¼?k½ pkykd¼?k½ pkykd¼?k½ pkykd    

                            ¼¼¼¼ ii½ pk¡n fdls pkjksa fn”kkvksa esa QSyk, gS½ pk¡n fdls pkjksa fn”kkvksa esa QSyk, gS½ pk¡n fdls pkjksa fn”kkvksa esa QSyk, gS½ pk¡n fdls pkjksa fn”kkvksa esa QSyk, gS\\\\    

                                    ¼d½ pk¡nuh dks ¼d½ pk¡nuh dks ¼d½ pk¡nuh dks ¼d½ pk¡nuh dks     ¼[k½ iks”kkd dks ¼[k½ iks”kkd dks ¼[k½ iks”kkd dks ¼[k½ iks”kkd dks     ¼x½ ikuh dks ¼x½ ikuh dks ¼x½ ikuh dks ¼x½ ikuh dks         ¼?k½ flrkjksa dks ¼?k½ flrkjksa dks ¼?k½ flrkjksa dks ¼?k½ flrkjksa dks     

                            ¼¼¼¼ iii½ ^ge* “kCn dk ç;ksx fdlds fy, fd;k x;k gS½ ^ge* “kCn dk ç;ksx fdlds fy, fd;k x;k gS½ ^ge* “kCn dk ç;ksx fdlds fy, fd;k x;k gS½ ^ge* “kCn dk ç;ksx fdlds fy, fd;k x;k gS\\\\    

                                        ¼d½ yM+dh ds fy, ¼d½ yM+dh ds fy, ¼d½ yM+dh ds fy, ¼d½ yM+dh ds fy,         ¼[k½ pk¡n ds fy, ¼[k½ pk¡n ds fy, ¼[k½ pk¡n ds fy, ¼[k½ pk¡n ds fy,     ¼x½ ckny ds fy, ¼x½ ckny ds fy, ¼x½ ckny ds fy, ¼x½ ckny ds fy,     ¼?k½ ¼?k½ ¼?k½ ¼?k½ flrkjksa ds fy,flrkjksa ds fy,flrkjksa ds fy,flrkjksa ds fy,    

                            ¼¼¼¼ iv    ½½½½    mfpr “kCn dk ç;ksx dj fjDr LFkkmfpr “kCn dk ç;ksx dj fjDr LFkkmfpr “kCn dk ç;ksx dj fjDr LFkkmfpr “kCn dk ç;ksx dj fjDr LFkku Hkjsa&u Hkjsa&u Hkjsa&u Hkjsa&    

                                            Pk¡kn dks ?kVus&c<+us dh &&&&&& gSSAPk¡kn dks ?kVus&c<+us dh &&&&&& gSSAPk¡kn dks ?kVus&c<+us dh &&&&&& gSSAPk¡kn dks ?kVus&c<+us dh &&&&&& gSSA    

                                        ¼d½ chekjh  ¼d½ chekjh  ¼d½ chekjh  ¼d½ chekjh              ¼[k½ ”¼[k½ ”¼[k½ ”¼[k½ ”kkSkkSkkSkkSd d d d         ¼x½ vknr ¼x½ vknr ¼x½ vknr ¼x½ vknr         ¼?k½ lkgl¼?k½ lkgl¼?k½ lkgl¼?k½ lkgl    
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[k.M ^[k*[k.M ^[k*[k.M ^[k*[k.M ^[k*    

ç”u ¼6½ ç”u ¼6½ ç”u ¼6½ ç”u ¼6½     fuEufyf[kr ç”uksa ds mÙkj ,d okD; esa nsa%&fuEufyf[kr ç”uksa ds mÙkj ,d okD; esa nsa%&fuEufyf[kr ç”uksa ds mÙkj ,d okD; esa nsa%&fuEufyf[kr ç”uksa ds mÙkj ,d okD; esa nsa%&                    [1x4=4]    

                                ¼d½ fpfM+;k ds LoHkko dh fdUgha nks fo”ks’krkvksa dk mYys[k djsaA¼d½ fpfM+;k ds LoHkko dh fdUgha nks fo”ks’krkvksa dk mYys[k djsaA¼d½ fpfM+;k ds LoHkko dh fdUgha nks fo”ks’krkvksa dk mYys[k djsaA¼d½ fpfM+;k ds LoHkko dh fdUgha nks fo”ks’krkvksa dk mYys[k djsaA    

                                    ¼[k½ eksgu ds bykt ds f¼[k½ eksgu ds bykt ds f¼[k½ eksgu ds bykt ds f¼[k½ eksgu ds bykt ds fy, oSn~;th dks firkth us fdrus #y, oSn~;th dks firkth us fdrus #y, oSn~;th dks firkth us fdrus #y, oSn~;th dks firkth us fdrus #i;s fn,i;s fn,i;s fn,i;s fn,\\\\    

                                    ¼x½ pk¡n iwjk xksy fdl fnu fn[k¼x½ pk¡n iwjk xksy fdl fnu fn[k¼x½ pk¡n iwjk xksy fdl fnu fn[k¼x½ pk¡n iwjk xksy fdl fnu fn[kkbZ nskbZ nskbZ nskbZ nsrk gSrk gSrk gSrk gS\\\\    

                                        ¼?k½ ^tkus og¼?k½ ^tkus og¼?k½ ^tkus og¼?k½ ^tkus og    ****,sls&,sl,sls&,sl,sls&,sl,sls&,sls*s*s*s*    nnZ D;k gS] yM+ds dk cqjk gknnZ D;k gS] yM+ds dk cqjk gknnZ D;k gS] yM+ds dk cqjk gknnZ D;k gS] yM+ds dk cqjk gky dj fn;ky dj fn;ky dj fn;ky dj fn;kAAAA****    mDr okD; mDr okD; mDr okD; mDr okD;     

                                                                    fdlus]fdlus]fdlus]fdlus]    fdlls dgkfdlls dgkfdlls dgkfdlls dgk\\\\    

ç”u ¼7½ ç”u ¼7½ ç”u ¼7½ ç”u ¼7½     fuEufyf[kr ç”uksa ds laf{kIr mÙkj nsa%&fuEufyf[kr ç”uksa ds laf{kIr mÙkj nsa%&fuEufyf[kr ç”uksa ds laf{kIr mÙkj nsa%&fuEufyf[kr ç”uksa ds laf{kIr mÙkj nsa%&                            [2x3=6]    

                            ¼d½ ^uknku nksLr* uked ikB esa nksuksa cPpksa ds nksigj esa ckgj fudyus dk D;k¼d½ ^uknku nksLr* uked ikB esa nksuksa cPpksa ds nksigj esa ckgj fudyus dk D;k¼d½ ^uknku nksLr* uked ikB esa nksuksa cPpksa ds nksigj esa ckgj fudyus dk D;k¼d½ ^uknku nksLr* uked ikB esa nksuksa cPpksa ds nksigj esa ckgj fudyus dk D;k    

                                                    dkdkdkdkj.k j.k j.k j.k FkkFkkFkkFkk\\\\    

                                ¼[k½ fpfM+;k dks fdu&fdu phtksa ls I;kj gS¼[k½ fpfM+;k dks fdu&fdu phtksa ls I;kj gS¼[k½ fpfM+;k dks fdu&fdu phtksa ls I;kj gS¼[k½ fpfM+;k dks fdu&fdu phtksa ls I;kj gS\\\\    

                                ¼x½ ^pk¡n ls FkksM+h lh xIis¼x½ ^pk¡n ls FkksM+h lh xIis¼x½ ^pk¡n ls FkksM+h lh xIis¼x½ ^pk¡n ls FkksM+h lh xIisaa aa****    uked dfork ds dfo dk uke fy[ksa rFkk pk¡n duked dfork ds dfo dk uke fy[ksa rFkk pk¡n duked dfork ds dfo dk uke fy[ksa rFkk pk¡n duked dfork ds dfo dk uke fy[ksa rFkk pk¡n dkkkk        

                                                psgjk dSlk fn[krk gSpsgjk dSlk fn[krk gSpsgjk dSlk fn[krk gSpsgjk dSlk fn[krk gS\\\\    ;g Hkh crk,¡A;g Hkh crk,¡A;g Hkh crk,¡A;g Hkh crk,¡A    

ç”u ¼8½ ç”u ¼8½ ç”u ¼8½ ç”u ¼8½     fuEufyf[kr ç”uksa ds mÙkj fy[ksa%&fuEufyf[kr ç”uksa ds mÙkj fy[ksa%&fuEufyf[kr ç”uksa ds mÙkj fy[ksa%&fuEufyf[kr ç”uksa ds mÙkj fy[ksa%&                            [3x3=9]    

                                ¼d½ gsysu dsyj us viuh ¼d½ gsysu dsyj us viuh ¼d½ gsysu dsyj us viuh ¼d½ gsysu dsyj us viuh vkRedFkk fdl iqLrd esa fy[kh gSvkRedFkk fdl iqLrd esa fy[kh gSvkRedFkk fdl iqLrd esa fy[kh gSvkRedFkk fdl iqLrd esa fy[kh gS\\\\    og vius fe=ksa dhog vius fe=ksa dhog vius fe=ksa dhog vius fe=ksa dh    

                                                                ijh{kk dc ysrh Fkh rFkk muds tokc dks lqudj mUgsa vk”p;Z D;ksa ugha ijh{kk dc ysrh Fkh rFkk muds tokc dks lqudj mUgsa vk”p;Z D;ksa ugha ijh{kk dc ysrh Fkh rFkk muds tokc dks lqudj mUgsa vk”p;Z D;ksa ugha ijh{kk dc ysrh Fkh rFkk muds tokc dks lqudj mUgsa vk”p;Z D;ksa ugha     

                                                                gksrkgksrkgksrkgksrk    FkkFkkFkkFkk\\\\    

                                    ¼[k½ ^uknku nksLr* uked ikB es¼[k½ ^uknku nksLr* uked ikB es¼[k½ ^uknku nksLr* uked ikB es¼[k½ ^uknku nksLr* uked ikB esa nksuksa cPpksa ds uke D;ka nksuksa cPpksa ds uke D;ka nksuksa cPpksa ds uke D;ka nksuksa cPpksa ds uke D;k    FksFksFksFks\\\\    fpfM+;k us vaMsfpfM+;k us vaMsfpfM+;k us vaMsfpfM+;k us vaMs    

                                                    D;ksa fxjk fn,D;ksa fxjk fn,D;ksa fxjk fn,D;ksa fxjk fn,\\\\    

                                    ¼x½ eksgu dh chekjh dk irk fdlus yxk;k rFkk mlus eksgu dks D;k lykg nh¼x½ eksgu dh chekjh dk irk fdlus yxk;k rFkk mlus eksgu dks D;k lykg nh¼x½ eksgu dh chekjh dk irk fdlus yxk;k rFkk mlus eksgu dks D;k lykg nh¼x½ eksgu dh chekjh dk irk fdlus yxk;k rFkk mlus eksgu dks D;k lykg nh\\\\    

ç”u ¼9½ ç”u ¼9½ ç”u ¼9½ ç”u ¼9½     ^cky jke dFkk* ij vk/kkfjr ^cky jke dFkk* ij vk/kkfjr ^cky jke dFkk* ij vk/kkfjr ^cky jke dFkk* ij vk/kkfjr fdUgha ik¡p fdUgha ik¡p fdUgha ik¡p fdUgha ik¡p ç”uksa ds mÙkj fy[ksaAç”uksa ds mÙkj fy[ksaAç”uksa ds mÙkj fy[ksaAç”uksa ds mÙkj fy[ksaA            [2x5=10]    

                                ¼d½ jktk n”kjFk dkSu Fks¼d½ jktk n”kjFk dkSu Fks¼d½ jktk n”kjFk dkSu Fks¼d½ jktk n”kjFk dkSu Fks\\\\    mUgsa fdl ckr dk nq[k FkkmUgsa fdl ckr dk nq[k FkkmUgsa fdl ckr dk nq[k FkkmUgsa fdl ckr dk nq[k Fkk\\\\    

                                ¼[k½ dSd¼[k½ dSd¼[k½ dSd¼[k½ dSdssss;h us;h us;h us;h us    jktk n”kjFk ls D;k ojnku ek¡xkjktk n”kjFk ls D;k ojnku ek¡xkjktk n”kjFk ls D;k ojnku ek¡xkjktk n”kjFk ls D;k ojnku ek¡xk\\\\        
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                                ¼x½ jktk n”kjFk ds fu/ku dh [kcj jke dks fdlus nh¼x½ jktk n”kjFk ds fu/ku dh [kcj jke dks fdlus nh¼x½ jktk n”kjFk ds fu/ku dh [kcj jke dks fdlus nh¼x½ jktk n”kjFk ds fu/ku dh [kcj jke dks fdlus nh\\\\mlus jke ls D;k vkxzg fd;kmlus jke ls D;k vkxzg fd;kmlus jke ls D;k vkxzg fd;kmlus jke ls D;k vkxzg fd;k\\\\    

                                    ¼?k½ jke fp=dwV ls naMd ou D;ksa pys x,¼?k½ jke fp=dwV ls naMd ou D;ksa pys x,¼?k½ jke fp=dwV ls naMd ou D;ksa pys x,¼?k½ jke fp=dwV ls naMd ou D;ksa pys x,\\\\        

                        ¼³¼³¼³¼³½ jktk n”kjFk ½ jktk n”kjFk ½ jktk n”kjFk ½ jktk n”kjFk jke dk jkT;kfHk’ksd D;ksa djuk pkgrs Fksjke dk jkT;kfHk’ksd D;ksa djuk pkgrs Fksjke dk jkT;kfHk’ksd D;ksa djuk pkgrs Fksjke dk jkT;kfHk’ksd D;ksa djuk pkgrs Fks\\\\    ml le; Hkjr rFkkml le; Hkjr rFkkml le; Hkjr rFkkml le; Hkjr rFkk        

                                        “k=q?“k=q?“k=q?“k=q?u dgk¡ x;s gq, Fksu dgk¡ x;s gq, Fksu dgk¡ x;s gq, Fksu dgk¡ x;s gq, Fks\\\\    

¼p½ tVk;q dkSu Fkk¼p½ tVk;q dkSu Fkk¼p½ tVk;q dkSu Fkk¼p½ tVk;q dkSu Fkk\\\\    mlus jke dks viuk ifjp; D;k dg dj fn;kmlus jke dks viuk ifjp; D;k dg dj fn;kmlus jke dks viuk ifjp; D;k dg dj fn;kmlus jke dks viuk ifjp; D;k dg dj fn;k\\\\    

¼N½ eaFkjk dkSu Fkh ¼N½ eaFkjk dkSu Fkh ¼N½ eaFkjk dkSu Fkh ¼N½ eaFkjk dkSu Fkh \\\\    og fdl [kcj dks lqudj ty&Hkqu xbZog fdl [kcj dks lqudj ty&Hkqu xbZog fdl [kcj dks lqudj ty&Hkqu xbZog fdl [kcj dks lqudj ty&Hkqu xbZ\\\\    

ç”u ¼1ç”u ¼1ç”u ¼1ç”u ¼10000½ ½ ½ ½     vLoLFk jgus ds dkj.k pkj fnu vLoLFk jgus ds dkj.k pkj fnu vLoLFk jgus ds dkj.k pkj fnu vLoLFk jgus ds dkj.k pkj fnu dk dk dk dk vodk”k ek¡xrs gq,vodk”k ek¡xrs gq,vodk”k ek¡xrs gq,vodk”k ek¡xrs gq,    çkpk;Z dks i= fy[ksaAçkpk;Z dks i= fy[ksaAçkpk;Z dks i= fy[ksaAçkpk;Z dks i= fy[ksaA    [5]    

vFkokvFkokvFkokvFkok    

                                    vkids eksgYys esa dwM+snku dh O;oLFkk gsrq uxj fuxe vf/kdkjh dks i= fy[ksaA    vkids eksgYys esa dwM+snku dh O;oLFkk gsrq uxj fuxe vf/kdkjh dks i= fy[ksaA    vkids eksgYys esa dwM+snku dh O;oLFkk gsrq uxj fuxe vf/kdkjh dks i= fy[ksaA    vkids eksgYys esa dwM+snku dh O;oLFkk gsrq uxj fuxe vf/kdkjh dks i= fy[ksaA        

ç”u ¼1ç”u ¼1ç”u ¼1ç”u ¼11111½ fuEufyf½ fuEufyf½ fuEufyf½ fuEufyf[kr esa ls fdlh ,d fo’k; ij 100&[kr esa ls fdlh ,d fo’k; ij 100&[kr esa ls fdlh ,d fo’k; ij 100&[kr esa ls fdlh ,d fo’k; ij 100&150 “kCnksa esa ,d vuqPNsn fy[ksa&150 “kCnksa esa ,d vuqPNsn fy[ksa&150 “kCnksa esa ,d vuqPNsn fy[ksa&150 “kCnksa esa ,d vuqPNsn fy[ksa&            [6]    

                                    ¼d½ ufn;ksa¼d½ ufn;ksa¼d½ ufn;ksa¼d½ ufn;ksa    dk egÙo & dk egÙo & dk egÙo & dk egÙo &     

ladsr fcUnq &   ladsr fcUnq &   ladsr fcUnq &   ladsr fcUnq &       

• HkwfedkHkwfedkHkwfedkHkwfedk    
• egÙoegÙoegÙoegÙo    
• orZeku fLFkfrorZeku fLFkfrorZeku fLFkfrorZeku fLFkfr    
• fu’d’kZ fu’d’kZ fu’d’kZ fu’d’kZ     

                                        ¼[k½ le; dk lnqi;ksx  & ¼[k½ le; dk lnqi;ksx  & ¼[k½ le; dk lnqi;ksx  & ¼[k½ le; dk lnqi;ksx  &     

• ladsr fcUnq &    ladsr fcUnq &    ladsr fcUnq &    ladsr fcUnq &        
• HkwfedkHkwfedkHkwfedkHkwfedk    
• vFkZvFkZvFkZvFkZ    
• egÙoegÙoegÙoegÙo    
• fu’d’kZ fu’d’kZ fu’d’kZ fu’d’kZ     

                                        ¼x½ ijksidkj  & ¼x½ ijksidkj  & ¼x½ ijksidkj  & ¼x½ ijksidkj  &     

ladsr fcUnq &     ladsr fcUnq &     ladsr fcUnq &     ladsr fcUnq &         

• HkwfedkHkwfedkHkwfedkHkwfedk    
• ijksidkj dk vFkZijksidkj dk vFkZijksidkj dk vFkZijksidkj dk vFkZ    
• ijksidkj dSls djsaijksidkj dSls djsaijksidkj dSls djsaijksidkj dSls djsa    
• egÙoegÙoegÙoegÙo    
• fu’d’kZ fu’d’kZ fu’d’kZ fu’d’kZ     
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                d{kk& N%d{kk& N%d{kk& N%d{kk& N%                

                le;& le;& le;& le;& 1?kaVk ?kaVk ?kaVk ?kaVk 30 feuVfeuVfeuVfeuV         
 

1. x|ka”ka ifBRok iz”ukuke~ mÙkjkf.k fy[

 ,rr~ fde~\ 

 ,rr~ [kfu=e~ vfLrA 
 Jfedk [kfu=e~ pky;frA  

I. ,dinsu mÙkja fy[kr &   

(d) ,rr~ fde~ vfLr\ 
([k) dk [kfu=e~ pky;fr\ 

    II. ,dokD;su mÙkja fy[kr &   

      (d) Jfedk fda pky;fr\ 

   III. fodYisH;% mfpra mÙkja fpuqr &

        (i)  *[kfu=e~* bfr inL; fyaxa fde~

        (d) iqfYyaxa    ([k) L=hfyaxa  

     (ii)  *Jfedk [kfu=a pky;fr* & bfr okD;s fØ;kina fde~

      (d) Jfedk    ([k) pky;fr  

    (iii)  *vfLr* bfr ins d% ydkj%

      (d) yV~       ([k) y`V~   

   (iv)  *,rr~ * inL; opua fde~

     (d) ,dopua   ([k) f}opua    

 

 

fnYyh ifCyd LdwyfnYyh ifCyd LdwyfnYyh ifCyd LdwyfnYyh ifCyd Ldwy    
    lsy Vkmuf”ki] lsy Vkmuf”ki] lsy Vkmuf”ki] lsy Vkmuf”ki] jk¡phjk¡phjk¡phjk¡ph     

                                            v/kZokf"kZd ijh{kk v/kZokf"kZd ijh{kk v/kZokf"kZd ijh{kk v/kZokf"kZd ijh{kk (2021-2022)    
                                                                                

                        

|ka”ka ifBRok iz”ukuke~ mÙkjkf.k fy[kr & 

      

 

       

fodYisH;% mfpra mÙkja fpuqr &       

*[kfu=e~* bfr inL; fyaxa fde~\ 

L=hfyaxa  (x) uiqladfyaxa   (?k) vU;fyaxa  

Jfedk [kfu=a pky;fr* & bfr okD;s fØ;kina fde~\ 

pky;fr  (x) [kfu=a     (?k) u dkssfi 

*vfLr* bfr ins d% ydkj%\ 

 (x) y³~     (?k) yksV~ 

* inL; opua fde~\  

f}opua    (x) cgqopua     (?k)  vU;opua  
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                                                                fo"k;&laLd`rfo"k;&laLd`rfo"k;&laLd`rfo"k;&laLd`r    
            iw.kkZad&4iw.kkZad&4iw.kkZad&4iw.kkZad&40000    

 [½x2=1] 

 [1x1=1] 

 [½x4=2] 



 

2. i|ka”ka ifBROkk iz”ukuke~ mÙkjkf.k fy[kr &  

 Li`”kfUr iknS% ikrkya pA 
 uHk% f”kjLlq ogfUr o`{kk%AA 

I. ,dinsu mÙkja fy[kr &          [½x2=1] 
 (d)  o`{kk% fda Li`”kfUr\ 
([k) o`{kk% dS% ikrkya Li`”kfUr\ 

 

    II. ,dokD;su mÙkja fy[kr &          [1x1=1] 

(d)  ds f”kjLlq uHk% ogfUr\ 

   III. fodYisH;% mfpra mÙkja fpuqr &        [½x4=2] 

            (i)  *uHk% f”kjLlq ogfUr o`{kk%* & bfr okD;s dÙk`Zina fde~\ 

 (d) uHk%    ([k) o`{kk%    (x) f”kjLlq    (?k)  ogfUr 

 (ii)  *ogfUr* bfr ins d% ydkj%\ 

(d) yV~    ([k) y`V~    (x) y³~      (?k)  yksV~ 

(iii)  *iknS%^ bfr ins dk foHkfDr%\ 

(d) f}rh;k    ([k) r`rh;k    (x) prqFkhZ     (?k)  iapeh  

(iv)  *o`{kk%* bfr inL; opua fde~\ 

(d) ,dopua   ([k) f}opua    (x) cgqopua    (?k)  vU;opua 

3. inkuka o.kZfoPNsna dq:r &          [1x4=4] 

            (i)  p’kd% & ----------------------- 
 (ii)  Nqfjdk & -------------------- 
 (iii)  iqLrde~ & -------------- 
 (iv)  uwrukfu & ------------ 
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4. o.kZala;kstua d`Rok ina fy[kr &         [½x4=2] 

(i)  c~$vk$y~$v$d~$v% = -------------------- 
(ii)  ?k~$v$V~$b$d~$vk = -------------------- 
(iii)  m$n~$;~$vk$u~$, = -------------------- 
(iv)  [k~$v$u~$b$r~$j~$v$e~ = -------------------- 

5. funs”kkuqlkja ijforZua dq:r &         [1x4=4] 
 (i)  Nk=s fy[kr%A (cgqopus)   -------------------- 

 (ii)  ,rkfu ;kukfuA (f}opus)   -------------------- 

(iii)  vga u`R;kfeA (cgqopus)   -------------------- 

(iv)  vLekda iqLrdkfuA (,dopus)   -------------------- 

6. dks’Bdkr~ mfpra “kCna fpRok fjDrLFkkukfu iwj;r &      [½x4=2] 

(i)  ------------------ pyfrA (ukSds /ukSdk)    

(ii)  ------------------ iBkfeA (o;e~ /vge~)    

(iii)  ------------------ Nk=s Lo%A (o;e~ /vkoke~)    
(iv)  ,rr~----------------- iqLrde~A (eke~ /ee)    

7. mi;qDrsu vFksZu lg ;kst;r &         [½x4=2] 

 “kCn%     vFkZ%  

vLekde~  rqEgkjk 
;w;e~   ge nksuksa 
vkoke~   gekjk 
ro   rqe lc  

8 v/kksfyf[krs’kq okD;s’kq dÙkZ`inkfu (dÙkkZine~) fpuqr &      [½x4=2] 

 (i)  fogxk% o``{ks’kq dwtfUrA 
(ii)  o`{kk% oue~ jp;fUrA 
(iii)  d`’kd% vUukfu mRikn;frA 
(iv)  m|kus ckydk% [ksyfUrA 

 

9 fØ;kinS% okD;kfu iwj;r &         [½x4=2] 

 [xk;r%] iBfl] fy[kkfe] /kkoke%] 

(i)  Roa ------------------A   (ii)  o;a------------------A  
(iii)  ckfyds ---------------A      (iv)  vga ----------------A 
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10 opukuqlkja fjDrLFkkukfu iwj;r &        [½x4=2] 

,dopua   f}opua    cgqopua 

;Fkk  yrk    yrs          yrk% 
  xhrk  -------        ----------- 

  ------------  isfVds  ------------ 

11 mfprinkfu la;ksT; okD;kfu jp;r &        [½x4=2] 

   (d)     ([k)  

 dksfdys       fodlfr 

 iou%    xtZfUr 

 iq’ie~     dwtr% 

 flagk%     ogfr 

12 dks’Bdkr~ mfpra “kaCna fpRok fy[kr &       [½x4=2] 

 (i)  ----------------- ckfydk iBfrA (,d% /,dk)    

 (ii)  ----------------- Qykfu irfUrA (pRokj% /pRokfj)    

 (iii)  ----------------- xtkS pyr%A (}kS /}s)    

 (iv)  ----------------- efgyk% onfUrA (fró% /=hf.k)    

13 “kCn:ikf.k fy[kr &          [1x4=4] 

 (i)  ckyd & ‘k’Bh 
(ii)  yrk & r`rh;k  
(iii)  rr~ (iq¡0) & iapeh 
(iv)  rr~ (L=h0) & lIreh 

14  “kCn:ikf.k fy[kr &          [1x4=4] 

(i)  iB~ & y`V~ ydkj & izFke iq:’k% 

(ii)  xe~ & y³~ ydkj & mÙke iq:’k%  

(iii)  [kkn~ & yV~ ydkj & e/;e iq:’k%  

(iv)  ue~ & yksV~ ydkj & izFke iq:’k% 

**************** 
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   DELHI PUBLIC SCHOOL 
  SAIL TOWNSHIP RANCHI 

   HALF YEARLY EXAMINATION (2021-22) 

  

Class-VI                                                      Subject: French 

Time: 1½ Hrs.                                            M.M: 40 

       Section - A 

Q.1.  Lisez le texte et repondez aux questions suivants: 

UNE LETTRE DE ROYEN 

Bonjour ravi. 

Je m’appelle manuel. Je suis français et j’habite à royen en haute-Normadie. C’est une région dans 

le nord de la france, célèbre pOur ses fromages. Le plus célèvre est le camembert. C’est aussi le 

lieu de naissance des grands écrivains comme corneille et flaubert. Dans la ville ,une belle 

cathédrale se trouve  au noms de jeanne d’Arc. 

 

J’aime ma famille. Le soir,je fais quelquefois une promenade dans les rues avec mes amis. La seine 

traverse Rouen et la mer n’est pas loin. Il y a un grand port à Rouen. À l’école ,j’apprends 

l’anglais. Tu veux écrire une lettre en anglais. Tu décris ta ville, ton école et ta vie. 

1.Répondez au question suivantes.                                                                             (1×5=5) 

a) Qui  écrit la lettre? 

b) Où est Rouen? 

c) Nommez deux écrivains français. 

d) Quel fleuve traverse Rouen? 

e) Quelle est le noms de cathedrale? 

 

Section - B 

Q1. Décrivez saison de france en dix ligne.                                  [5] 

                                                                Section - C 

Q1. Changez au forme négatif:                                [5] 

a) Nous faisons du patinage.  

b) Alexis fait des activités sportives.  

c) Elles vont faire de la bicyclette.  

d) C’est un athlète.  

e) Vous faites de la voile. 

f) Ils jouent au hockey.  

g) Elles pratiquent le tennis.  

h) Vous achetez une raquette de tennis.  

i) Elle préfère le soccer.  



j) Nous sommes des joueurs amateurs. 

Q2. Conjuguez les verbes:                                                   [5] 

1. Nous _______________ les devoir. ( finir) 

2. Elles ________________ le travail.( finir) 

3. Elles ________________ beaucoup.( grandir) 

4. Les fruits ___________ sur les arbres.( mûrir) 

5. Les enfants _________ du poissons Deux fois par semaine.( manger) 

6. Je ___________français avec mon ami.( parler) 

7. Vous ___________ la télé aprés le repas.( Regarder) 

8. Tu ____________dans une chorale( chanter) 

9. Tu ___________ un bain au bébé.( donner). 

10. Nous __________ ici pour le weekend        

     

Q.3.          Complétez avec un article indéfini (un, une) ou défini (le, la, l’).       [2 ½ ] 

Exemple: Voici ____ professeur (m). C'est ____ professeur d'anglais. 

--> Voici un professeur, c'est le professeur d'anglais. 

a. Voici ________ enfants (m). Ce sont _______ enfants de Madame Marion. 

b. Voici _______ ville (f). C'est _________ ville de Besançon. 

c. Voici ___________ étudiantes (f). Ce sont _________ étudiantes du cours de 

mathématiques. 

d. Voici ________ immeuble (m). C'est __________ immeuble de Maxime. 

e.  Voici _________ institut (m). C'est ___________ institut de Nice.  

Q4. Changez aux formes pluriels:                 [2 ½ ] 

1. Je suis Grand. 

2. Il est petit 

3. Tu regarde télévision. 

4. Tu est intelligent. 

5. J’aime gateau. 

Q.5. Conjuguez cette verbe:                            [3] 

1. Rappeler 

Q.6. Transduisez en anglais:                                                                                                       [2] 

a) La promanade 

b) La mousson 

c) Le devoir 

d) La tartine  

 

 

Section - D 

Q1. Ecrivez les nationalite de pays en français:          [2 ½ ] 

Country                         masculin                                       feminin 



1.  India  ____________________              ____________________ 

2. France  ____________________           ____________________ 

3. Canada  ____________________          ____________________ 

4.  Australia  ____________________          ____________________ 

5.  Saudi Arabia ____________________         ____________________ 

 

 

Q2. Ecrivez en français les professions:                     [2 ½ ] 

 Profession       masculine                 feminine 

1. Dentist         ___________           ____________ 

2. Painter         __________             __________ 

3.  Secretary    __________             ___________ 

4. Writer        ___________            ___________ 

5. Doctor       ____________          _____________ 

 

Q3. Repondez aux questions:                                            [2 ½ ] 

1.  Quelle est la monnaie unique Européenne? 

2.  Ecrivez 4 vins populaire de france. 

3.  Écrivez 4 fromage populaire de france. 

4.  Quelle est le l’hymne nationale de france. 

5.  En quelle jour nous célèbre fête nationale? 

 

Q4. Ecrivez en français:                                                      [2 ½ ] 

1.  Head – 

2.  Chest- 

3.  Hair- 

4.  Leg – 

5.  Ears - 

 

 

  

            *********** 
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Sl. no.   
1.  Ausfüllen das Formular mit richtigem Artikel: 

a. Das ist ___________ Mutter. 
b. Das sind ___________ Eltern. 
c. Das ist ____________ Vater. 
d. Das ist ___________ Bruder. 
e. Das ist __________ Schwester. 
f. Das ist __________ Kind. 
g. Das sind _________ Kinder. 
h. Das ist __________ Tochter. 

 

.5x8=4 

2.  Schreib die Verb Konjugation: 
 

a. Jorge ____________ aus Portugal. 
b. Ich _____________ in München. 
c. Meine Mutter und mein Vater ________ in Berlin. 
d. Hallo, Lina und Tom, Woher ___________ ihr. 
e. Sie ____________ seit 3 Monaten in Köln. 
f. Sigrid ___________ nicht Verheiratet. 
g. _____________ ihr heute zu Hause? 
h. Wie alt ________ du? 
i. Wo ________ Tom?  
j. Wie ___________ es dir? 

 

.5x10=5 

3.   
Ergänze: 

a. Sind/ alt/ Sie/ 35 Jahre/? 
b. Deutsch/ lernen/ Sie/? 
c. Er/ im Winter/ gern /Ski/ fährt/ 
d. wohnt/sie/in/ Portugal/  
e. gehst/ du/ wohin/ dem Kurs/ nach/? 
f.  Der Türkei/du/ kommst/ aus/? 
g.  Der/Vater/ Bikram/von/ heiβt/ Kamal/ 
h. Ist/ die/ Schwester/Clara/ von/ Chloe/ 
i. Schwester/ von/ Sara/ die/ doof/ist 
j. Kommen /aus/Neu Delhi/Herr /Wagner? 

 

.5x10=5 

4.   
Antworte die Fragen mit „nein“.  

a. Hast du ein Fahrrad? 
Nein, _______________________________________. 

b. Magst du Tomaten? 
Nein, _______________________________________. 

.5x6=3 



c. Willst du ein Eis? 
Nein, _______________________________________. 

d. Sprichst du Chinesisch? 
Nein, _______________________________________. 

e. Verstehst du Englisch? 
Nein, _______________________________________. 

f. Studierst du in Stuttgart Gymnasium? 
Nein, _______________________________________. 
 

5.  
Liest den Text und  
Mein Name ist Olga Mischnik. Ich bin 28 Jahre alt und wohne in 
Kaiserslautern. Ich bin verheiratet und habe eine Tochter. Sie heiβt Raiza 
und ist 16 Jahre alt. Mein Mann heiβt Rolf. Er ist 30 Jahre alt. Er ist Pilot 
von Beruf und arbeitet zurzeit in einer Umzugsfirma. Ich lebe seit 12 
Jahren in Deutschland. Ich komme aus der Ukraine, aus Kiew. Meine 
Eltern wohnen in Augsburg. Das ist nicht weit von München. 

A. Antwort die Fragen: 
a. Wo wohnt Olga? 
b. Wie alt ist Raiza? 
c. Wie heiβt der Mann von Olga? 
d. Wo wohnen die Eltern von Olga? 
e. Seit wann lebt sie in Deutschland? 

 
B. Schreib die Zahl in Buchstaben: 

a. 30 -  b. 28 - 
c. 16 -  d. 12 - 
e. 123 - f. 77 -  

  
 
C. Richtig oder falsch: 

a. Rolf ist ein Pilot von Beruf. 
b. Olga wohnt in Deutschland seit 12 Jahre. 
c. Rolf ist achtundzwanzig Jahre alt. 
d. Raiza ist die Schwester von Olga. 
 

 
 
 
 
 
 
 
 
1x5=5 
 
 
 
 
 
 
 
.5x6=3 
 
 
 
 
.5x4=2 
 
 

6.   
E-Mail-Schreiben: 
Du bekommst die folgende Mail von Ben. Schreib eine Antwort in 30 
Wörter. 
 
Liebe(r)___________, 
Hallo, wir sind vier zu Hause. Ich wohne mit mein Vater Sabeth 
Wolkenstein meine Mutter Sandra Wolkenstein und meine Schwester 
Steffi. Wir wohnen in München. Das liegt in Süddeutschland bei Bayern. 
Meine Adresse ist Goethestraβe 132, München. Und meine 
Telefonnummer ist 0049 3452 6784.  
Wie viel seid ihr zu Hause? Wie ist deine Adresse und Telefonnummer?  
Schreib bald 
 
Ciao 
Ben 

5 



7. Was Passt zusammen: 
a. Wie viele Geschwister hat Tina? i. Ich bin Herr Schneider. 
b. Wer Sind Sie? ii. Nein, Ich wohne in Berlin. 
c. Wie alt sind Sie? iii. Bei Augsburg. 
d. Wohnst du in Paris? iv. drei  
e. Wie viele seid ihr zu Hause? v. Ich bin neunzehn. 
f. Wo liegt München? vi. Sie hat zwei Schwester. 

 
 

.5x6=3 

8. Fragt die folgenden Antworten: 1x5=5 
 a. ___________________________________? 

Amira wohnt in Hyderabad. 
b. ___________________________________? 

Wir sind vier zu Hause. 
c. ___________________________________? 

Gandhinagar liegt in Westindien. 
d. ___________________________________? 

Die Groβeltern von Stefan wohnen in Berlin. 
e. ___________________________________? 

Meine E – mail Adresse ist marion@gmail.de.  
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1. ¿Contesta a las preguntas siguientes :-                     5 

a. ¿Quién es el mejor amigo de Miguel?  

b. ¿Qué asignatura le gusta a César?  

c. ¿Dónde están los chicos?  

d. ¿Qué mermelada le gusta a Sol? 

e. ¿Quién llega tarde?  

 

      2.   Llena los huecos con poseedor y poseedores :-      5 

              (mi, tu, su, vuestras, nuestras) 

 

a. Yo estoy en …. (yo) habitación  

b. Ana está en ……. (ella) dormitorio.  

c. ¿Dónde están ……. (vosotros) toallas?  

d. ¿Dónde esta ……. (tú) colegio?    

e. ……… (nosotras) casas están en un apartamento.  

 

      3. Escribe las palabras con artículo determinado e        5 

           Indefinido :-  

Indefinido                         Determinado 

        (un, una, unos, unas)          (el, la, los, las) 

 

a. ……. chico                      ………. libro  

b. ……. familia                   ………. amigos 

c. …….. chicas                  ……….. chicas  

d. …….. hermano              ……… casa  

e. ……. boligrafos                ……… mesa  

 

      4.  Completa las frases con articulos y demostrativos    3 

            (Demostrativos - este, esta, estos, estas 

              Articulos indefinidos - un, una, unos, unas) 

 

a. …… es Shaswat. Es ….. amigo.  

b. …… tambien son ……. amigos.  

c. …… es Riya.  Es …….. alumna.  

d. …….. es …… mesa  

e. …….. es …….. boligrafo.  

f. ……. son ……. amigas.   

 

                                                                      Pg – 1 of 1 



 

      5.   Completa las frases con el uso de Ser y Estar          3 

a. Nosotros ……. estudiantes de español.  

b. Mi padre ….. en la oficina.   

c. Mi hermana ……. pequeña.                                                              

d. Miguel …… despierto.  

e. Tú …… mi amigo.   

f. Tú …… en el colegio.   

 

      6.   Haz frases con adjetivos posesivos y hay :-                3  

         (Possessive adjective – su, mi, tu, hay= there is/are) 

 

a. Este es …… (my) hermano.  

b. Esta es …… (your) madre.  

c. Esto es …… (her) coche.  

d. En la habitación ……. dos mesas pequeñas.  

e. ……. 22 estudiantes en mi clase.  

f. ………. muchos libros en tu estantería.   

 

      7.   Completa con el verbo gustar :-                                    3 

a. (yo) me……. las tostadas con mantequilla.  

b. No (yo) me ……… los cereales con leche. 

c. A Ana (ella) le …… los cereales de chocolate.  

d. (nosotros) nos …….. el zumo de naranja.   

e. ¿(tú) te …….. el café?  

f. No. A mi (yo) me ……. la leche con cereales.   

 

      8.   Haz frases con presente de indicativo :-                       2 

a. Yo siempre …… (tomar) pan con leche.  

b. Ella ……. (comer) muchas frutas.  

c. Nosotros ……..(vivir) en una gran casa.  

d. Yo ……. (estar) en mi escuela.  

 

      9.   Haz frases con el verbo "jugar"                                     2  

a. César y yo ……. al tenis.  

b. Mis padres ….. al tenis de mesa con sus amigos  

c. Tú ……. al futbol los domingos.  

d. El siempre …… al baloncesto los sabados.  

 

     10.  Contesta a las preguntas con tiempos :-                      2  

a. ¿A qué hora desayunas por la mañana? 

b. ¿Qué hora es?  

c. ¿A qué hora tú vas a la escuela?  

d. ¿A qué hora estudias por la tarde?  

 

 

                                                                        Pg – 2 of 3 

 

 



      11.  Completa las frases con momento de actividad        2 

          (por la tarde- in the evening/ afternoon, por la mañana-  

            in the morning, por la noche- in the night) 

 

a. De lunes a viernes hacemos los deberes ……. 

b. ………. saludamos buenos días a cada uno.  

c. Leemos un libro de cuentos …….  

d. ……….. merendamos pan con chocolate.  

 

       12.  Escribe conjugación de los verbos :-                        5 

              (Write the conjugation of the verbs)  

              Ser, Estar, Jugar, Comer, Vivir 

 

                                                                         Pg – 3 of 3 
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 Class VI 
 1  

Q1. Fill in the blanks with appropriate particles from below choices. (2 marks) 
 
 が を に の と 
   

1. Aditya さん は さかな __________すきです。 
 

2. わたしは りんご __________ たべます。 
 

3. Ram さんは びょういん _________ いきます。 
 

4. これは わたし ________ ほんです。 
 

5. ともだち_________ まつりに いきます。 
 
 
Q2. Write the following days of the week and months in Japanese (Hiragana).

 (3 marks) 
 

1. Monday 
 

2. Thursday 
 

3. Saturday 
 

4. February 
 

5. July 
 

 
Q3. Write the masu form and negative masu form of the following verbs.  
  (3 marks) 
 

1. さがす 

2. あく 

3. みる 

4. わらう 

5. まつ 
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 Class VI 
 2  

                                                                                                                 
Q4. Write the following Romaji words in Hiragana. (5 marks) 
 

1. tokorode 

2. karada 

3. kaimono 

4. muzukashii 

5. kantan 

6. itsumo 

7. hantai 

8. onaji 

9. tomodachi 

10. ongaku 

 
Q5. Write the meaning of the following adjectives in English. (2 marks) 
 

1. やすい 

2. たかい 

3. はやい 

4. ちいさい 

5. あかい 
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 Class VI 
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Q6. Translate the following English sentences into Japanese. (5 marks) 
 

1. I am going to the market. 

2. I am an Indian. 

3. There are 4 people in my family. 

4. I speak Japanese Language. 

5. I will buy a bag. 

 
Q7. Write the meanings of Hiragana in English and make one sentence in 

Japanese (Hiragana) with each word (Hiragana). 
 
 (5 marks) 

1. せんせい 

2. くつした 

3. てら 

4. ことば 

5. のむ 

6. いく 

7. じてんしゃ 

8. かさ 

9. えんぴつ 

10. らいげつ 
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Q8. Write the answers to the following questions. (5 marks) 

1. この ほてる (hotel) はなんじ から なんじ まで ですか。 

2. ひるやすみ は なんじ から なんじ まで ですか。 

3. ひるごはん は なに を たべますか。 

4. まいあさ なんじ に おきますか。 

5. あなた は なに に なりたい ですか。 

 
Q9. Write your self-introduction in Hiragana. It must have a minimum of 5 

sentences. You may write names in English, such as your name or school 
name.   
 (5 marks) 

 
 
Q10. Write an essay in Hiragana on “Your family”. Your essay must have a 

minimum of 5 sentences. You may write names in English, such as your 
name or your family’s name. 

 
  (5 marks) 
 


